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ENCLOSURE

APRIL 25, 1994 LICENSED OPERATOR EXAM
coO ECO 10N

RO EXAM
QUESTION 3. Common to both Exams, see above.

QUESTION 24. This question requires that the candidate select a correct statement describing the
SGIS blocking )/ zic. The answer key is incorrect and the question lists two correct answers.
SGIS may be manually blocked once three of four SG pressures are below 785 psia
(Technical Specifications). If SGIS is blocked and 2 of 4 SG pressures rise above tne 785 psia
setpoint, SGIS will be automatically unblocked.

RECOMMENDATION: Both answers B and D should be accepted as correct, with the answer key
response, C, being rejected.

REFERENCES: Sce Attachment (4).

QUESTION 36. This question requires that the candidate know what automatic actions, if any, will
occur if RI-4014 alarms with the high temperature bypass valve open. The answer key is
correct as it stands but must be augmented to include choice D which is always an automatic
action should R1-4014 alarm.

RECOMMENDATION: Choice A and D should be accepted as correct answers.

REFERENCES: See Attachment (5).

QUESTION 44: Common to both Exams, see above comments, SRO Exam Question 38,

"



ATTACHMENT 2

NRC RESOLUTION OF FACILITY WRITTEN EXAMINATION COMMENTS

SRO Question # 3. RO Question #7

The facility's comment was accepted. The matching question, items 3.a. and 3.c., were
deleted from the exam.

SRO Question #38, RO Question #44
The facility's comment that answers "b" and "d" were both correct was accepted.
SRO Question #39

The facility's statement that a quench tank pressure of 9.5 psig is off normal is correct.
The answer key was changed to reflect "b" as the correct response and NOT "a".

RO Question #24

The facility's statement that there were two correct answers to this question depending on
plant conditions was correct. The answer key was changed to refiect both "b" and "d" the
correct responses and NOT "¢".

RO Question #36

The facility's statemen® *hat there were two correct answers to this question, based on the
alarm response procedure information, was correct. The answer key was changed to reflect
both "a" and "d" as the correct responses.



ATTACHMENT 3

SIMULATOR FIDELITY REPORT

Facility Licensee: Calvert Cliffs Unit 1 and 2

Facility Docket No: 50-317 and 50-318

Operating Tests Administered from: April 25-29, 1994

This form is to be used only to report observations. These observations do not constitute
audit or inspection findings and are not, without further verification and review, indicative of
noncompliance with 10 CFR 55.45(b). These observations do not affect NRC certification or
approval of the simulation facility other than to provide information that may be used in
future evaluations. No licensee action is requred in response to these observations.

During the conduct of the simulator and JPM portions of the operating tests, the following

item was observed:

ITEM

Main feed pump
digital control

Simulator hardware

Alarm Panels 1C33
and 1C34

DESCRIPTION

The new MFP digital control station did not respond as expected
for one JPM. The problem was discussed with the training
personnel during the exam prep week and still existed the week
of exam administration. The training personnel issued a
deficiency report to correct the problem.

The simulator experienced a number of problems during the
exam week that resulted in one- to two-hour delays on each day
of the operating exams. The simulator experienced a number of
problems during the exam week that resulted in one to two-hour
delays on each day of the operating exams. One example of
another tyse of simulator impact was noticed during the
administration of simulator JPMs. The simulator clock was
advancing in two-second increments, which resulted in slow
equipment response to normal switch manipulations. The
training management stated that they were in the process of
purchasing a new and more reliable computer system for the
simulator,

During a dynamic simulator scenario, the power supply breaker
tripped open to alarm panels 1C33 and 1C34.
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U. S. NUCLEAR REGULATORY COMMISSION
SITE SPECIFIC EXAMINATION
REACTOR OPERATOR LICENSE

REGION _1
CANDIDATE'S NAME:

FACILITY: _Calvert Cliffs, Units 1 & 2
REACTOR TYPE: _PWR-CE

DATE ADMINISTERED: _94/04/2%5

INSTRUCTIONS TO CANDIDATE:

Use the answer sheets provided to document your answers. Staple this cover
sheet on top of the answer sheets. Points for each guestion are indicated in
parentheses after the guestion. The passing grade requires a final grade of
at least 80%. Examination papers will be picked up four (4) hours after the
examination starts.

CANDIDATE'S

TEST VALUE  ___SCORE 1

100.0 % TOTALS
FINAL GRADE

All work done on this examination is my own. I have neither given nor
received aid.

Candidate’s Signature



REACTOR OPERATOR

001
002
003

004
005
006
007

008
009
010
011

012

Multiple Choice

ANSWER

SHEET

(Circle or X your choice)

If you change your answer, write your selection in the blank.

MULTIPLE CHOICE

a b

a b
MATCHING
a ——
b
c somemeistion
d

c d
o d

MULTIPLE CHOICE

a

a

MATCHING

b
b
b

c d
c d
s d

MULTIPLE CHOICE

a

a

b

g v v o

0
e a o o

013
014
015
016
017
018
019
020

021

a

a

MATCHING

A
B
>
D

v & v v o o U

2 a4 o 2 o o a0 o

MULTIPLE CHOICE

022
023
024
025
026
027
028
029

030

a

b

r*r v o v v o o ©

2 o 2 o 8 / 2 / o
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REACTOR OPERATOR Page 3

ANSWER SHEET

Multiple Choice (Circle or X your choice)

If you change your answer, write your selection in the blank.

031  MATCHING 050 a b ¢ 4 __
a 051 a b ¢ a4 _
b 052 a b =2 8 _
e 053 a b ¢ 4 ___

MULTIPLE CHOICE 054 a b c d o

032 a b ¢ a9 L 055 a b c a _

033 a b ¢ 4 ___ 06 a b ¢ 4 ___

034 a b ¢ a4 057 a b c 4 _

03 a b ¢ 4 _ 058 a b ¢ 4 ___

03 a b ¢ a4 _ 059 a b ¢ 4 ___

037 a b ¢ 4 __ 060 a b ¢ 4 __

038 a b e B 061 a b c d ___

03 a b ¢ 4 _ 062 a b ¢ 4 __

040 a b ¢ 4 063 a b ¢ 4 ___

041 a b e a4 té4 a b ¢ 4

042 a b e a4 | 065 a b c a __

043 a b ¢ 4 o= o666 a b ¢ 4 ___

044 a b e a4 ‘- 067 MATCHING

045 a b e 4 __ a

046 a b ¢ a _ b

047 a b ¢ d __ - IR

048 a b ¢ 4 __ a

049 a b c d



REACTCOR OPERATOR

Multiple Choice

If you change your answer, write your selection in the blank.

MULTIPLE CHOICE

068 a b ¢ d
069 a b c d
070 a b c d
071 a b c d
072 a b c d
073 a b c d
074 a b c d
075 a b c d
076 a b c d
077 a b c d
078 a b ¢ d

079 MATCHING

MULTIPLE CHOICE

080 a b c d
081 a b & d
082 a b c d
083 a b c d
084 a b e d

ANSWER SHEET

(Circle or X your choice)

085 a b c d
086 a b <] d
087 a b c d
088 a b c d
089 a b c d
090 a b c d
091 a b ¢ d
092 a b c d
093 a b c d
094 a b e d
085 a b e d
096 a b c d
097 a b ¢ d

(exxxewkrrs END OF EXAMINATION *axxkdnkwss)

Page

4



Page 5
NRC RULES AND GUIDELINES FOR LICENSE EXAMINATIONS

During the administration of this examination the following rules apply:

- I8

18.

11,

12.

13.

Cheating on the examination means an automatic denial of your application
and could result in more severe penalties.

. After the examination has been completed, you must sign the statement on

the cover sheet indicating that the work is your own and you have not
received or given assistance in completing the examination. This must be
done after you complete the examination.

. Restroom trips are to be limited and only one applicant at a time may

leave. You must avoid all contacts with anyone outside the examination
room to avoid even the appearance or possibility of cheating.

. Use black ink or dark pencil ONLY to facilitate legible reproductions.

Print your name in the blank provided in the upper right-hand corner of
the examination cover sheet and each answer sheet.

. Mark your answers on the answer sheet provided. USE ONLY THE PAPER PROVIDED

AND DO NOT WRITE ON THE BACK SIDE OF THE PAGE.

. Before you turn in your examination, consecutively number each answer sheet,

including any additional pages inserted when writing your answers on the
examination question page.

. Use abbreviations only if they are commonly used in facility literature.

Avoid using symbols such as < or > signs to avoid a simple transposition
error resulting in an incorrect answer. Write it out.

. The point value for each question is indicated in parentheses after the

question.

Show all calculations, methods, or assumptions used to obtain an answer to
any short answer questions.

Partial credit may be given except on multiple choice questions. Therefore,
ANSWER ALL PARTS OF THE QUESTION AND DO NOT LEAVE ANY ANSWER BLANK.

Proportional grading will be applied. Any additional wrong information
that is provided may count against you. For example, if a guestion is
worth one point and asks for four responses, each of which is worth 0.25
points, and you give five responses, each of your responses will be worth
0.20 points. If one of your five responses is incorrect, 0.20 will be
deducted and your total credit for that guestion will be 0.80 instead of
1.00 even though you got the four correct answers.

If the intent of a question is unclear, ask questions of the examiner only.



14.

15,

16.

17,

18.

Page 6

When turning in your examination, assemble the completed examination with
examination questions, examination aids and answer sheets. In addition,
turn in all scrap paper.

Ensure all information you wish to have evaluated as part of your answer is
on your answer sheet. Scrap paper will be disposed of immediately following
the examination.

To pass the examination, you must achieve a grade of 80% or greater.

There is a time limit of four (4) hours for completion of the examination.
When you are done and have turned in your examination, leave the examination

area (EXAMINER WILL DEFINE THE AREA). If you are found in this area while
the examination is still in progress, your license may be denied or revoked.



REACTOR OPERATOR Page 7

QUESTION: 001 (1.00)

Unit 2 is at 25 percent power. Figure 1 illustrates the basic Control Element
Drive Mechanism. Using Figure 1 for reference, identify which of the following
electrical sequences correctly describe the sequence of actions which occur
following the receipt of a CEA withdrawal signal.

a. Lower gripper coil-on; load transfer coil-on; upper gripper coil-off;
lift coil-on; pull down coil-on; upper gripper coil-on/pull down
coil-off; load transfer coil-off; lower gripper coil-off

b. Lift coil-on; load transfer coil-on; lower gripper coil-on; upper
gripper coil-off; lift coil-off/pull down coil-on; upper gripper
coil-on/pull down coil-off; load transfer coil-off; lower gripper
coil-off.

-F Lower gripper coil-on; load transfer coil-on; lift coil-on; upper
gripper coil-off; pull down coil-on; upper gripper coil-on/pull down
coil-off; load transfer coil-off; lower gripper coil-off

| d. Lift coil-on; lower gripper coil-on; load transfer coil-on; upper
| gripper coil-off; lift coil-off/pull down coil-on; upper gripper
| coil-on/pull down coil-off; load transfer coil-off; lower gripper
| coil-off.
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REACTOR OPERATOR Page 8

QUESTION: 002 (1.00)

During a Unit 2 startup, a loss of power occurs on Bus 2Y09. As a result, the
CRC should expect tco see which of the following Control Board indications:

a.

b.

All the green lights on the mimic display will be illuminated.
All CEAs indicate 0 inches on the metrascope.
Metrascope screen goes blank.

Mimic display lights go cut.



REACTOR CPERATOR

QUESTION: 003

(2.00)

Page 9

The foliowing RCP readings were taken with Unit 1 operating at 100% power.

11A
785
1480
175 F
110 F

For each pump, select from the right hand column those items which apply.

11B
1000
1500
150 F
118 F

12A 12B

800 760 Upper seal pressure
1450 1525 Middle seal pressure
180 F 110 F Lower seal temperature
115 F 105 F CBO temperature

answer per pump, but pump conditions (1-7) may be used more than once.

(0.5 each]

o v

b.

[

d.

11B

12B

O W

partial or complete upper feal failure
partial or complete middle seal failure
partial or complete lower seal failure
loss of component cooling wacer to RCP
high bleed off temperature

low bleed off temperature

all specifications within normal operating

One

range



REACTOR OPERATOR Page 10

QUESTION: 004 (1.00)

During a startup on the Unit 1 reactor (6% power) a transient occurs in which
the plant experiences a rapid increase in RCS Tavg. After RCS temperature is
returned to normal, the CRO observes the following conditions:

. Sharp increase in PZR level followed by a steady increase in level
- Letdown flow indicates 0 gpm

- Letdown stop valves 1-CVC-515-CV and 516 are open

- Letdown control valve indicates intermediate

- HIC-110 has a 100% output

- Backpressure regulating valves are shut

- Backpressure controller indicates 260 psi and decreasing
’ Letdown pressure alarm is in

- Boronmeter/Process Rad Monitor flow low alarm is in

- Waste processing RMS monitor has remained constant

- Charging Header RHX outlet temperature in decreasing

Which of the following conditions has occurred?

a. SI1AS
b. Excess flow check valve has shut
2 Backpressure regulating controller has failed

d. Letdown HX relief has failed open
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QUESTION: 005 (1.00)
Given the following plant conditions:
» Unit 1 is being heated up per OP-1
- RCS temperature is 510 deg. F
- RCS pressure is 1800 psia

A main steam line rupture occurs outside containment. Will any ESFAS actuation
occur to mitigate this event?

a. Yes, SIAS
b. Yes, SGIS
c. Yes, CVCIS

d. No



REACTOR OPERATOR

QUESTION: 006 (1.00)

Page 12

From the following list, idsntify which NI indication is lost on a loss of 120
VAC bus 2Y02.

a.

b.

1C15 channel B wide range
1C15 channel B linear range
1C43 channel B aux excore wide range

2C43 channel A aux excore wide range
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QUESTION: 007 (2.00)

Match the following CEA positinon indication setpoints in column A with the
correct CEA position in column 8. [Positions in column B may be used once,
more than once, or not at all.)

A B
a. upper computer stop (UCS) ¢ 1 135 inches
. lower exercise limit (EL) 3. 129 inches
d. lower electrical limit (LEL) 4., 9% inches
5., 88 inches

i b. upper sequential limit (USP) 2. 130.5 inches
6. 45 inches
. 7 10 inches
| 8. 6 inches
| 9. 3 ches

10. 0 iuches
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QUESTION: 008 (1.00)

FIVE MINUTES after core uncovery following a small break LOCA, the CRO should
expect to see CET temperatures that are

a. 15 to 30 degrees greater than Tsat
b. 15 to 30 degrees greater than Thot
C. approximately equal to Tsat

d. 10 to 15 degrees less than Tsat
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QUESTION: 009 (1.00)
A LOCA has occurred and the following conditions exist:

containment temperature = 300 deg. F
containment pressure = 50 psig

Which of the following automatic Containment Cooling System actions would "NOT"
occur?

a. An 8 inch control valve in a parallel Service Water supply line of
each cooling unit would uvpen.

b. The fusible link doors of each cooling unit would open.

-3 A fourth cooling unit would be placed into service.

d. Each cooling unit’s fan drive would switch to high speed.



REACTOR OPERATOR

QUESTION: 010

Which signal will start the Containment iodine filters?

a.

b.

CSAS
CIS
SIAS
RAS

(1.00)

Page 16
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REACTOR OPERATOR Page 17

QUESTION: 011 ({1.00)

Which statement is "NOT" a function of the Containment Spray System

a.

b

Fill the RCS during SDC
Fill the SITs during Hot Standby
Provide cooling water to HPSI pumps during post RAS conditions

Maintain SDC flow when both LPSI pumps are inoperable
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QUESTION: 012 (1.00)

Why are the Condensate booster pump hand switches placed in PTL on a loss of
offsite power?

a. To prevent overloading the diesel generator when its output breaker
is closed.
b. The pumps are not required since AFW wouid be in service.

c. To prevent cavitation due to insufficient NPSH following restoration
of off-site power.

d. To prevent a water hammer condition from a possible low header
pressure condition following restoration of off-site power.
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QUESTION: 013 (1.00)

The Unit-2 S/G level setpoint for the Full Range Digital Feedwater Control
System is generated from:

a. the MFV controller when in the High Power Mode and the BFV controller
when in the Low Power Mode.

b. the MFV controller only
P the BFV controller only

d. the microMax 6000 computers
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QUESTION: 014 (1.00)

Main feedwater has been lost to SG #11. Present SG level is minus (-)30 inches
and SG temperature is 232 deg. F. What actions should the operator take to
restore SG level?

a. Shut the main feedwater (MFW) isolation valve and restore level with
the AFW pump.

b. Trip the main feed pump and restore level with the condensate booster

pump.

G Transfer Main Feedwater Regulating Valve (MFRV) control from
Automatic to Manual and then take necessary steps to restore main
feedwater.

d. Place the MFRV in manual, switch to and verify alternate level

transmitter provides correct readings, return MFRV to auto and
monitor SG level response.
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QUESTION: 015 (1.00)

A Unit 1 turbine trip has just occurred due to low bearing oil pressure. What
is the response of the main feedwater regulating bypass valve to this event?

a. Bypass controller output signal is grounded to shut the valve.

b. Valve goes to the position determined by the bypass controller output
signal.

c. Valves goes to the 50% output position from the bypass trip setpoint
controller.

d. Valve goes to the 33% output position from the bypass trip setpoint
controller.
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QUESTION: 016 (1.00)

Which of the following actions will NOT occur, upon a loss of instrument air to
the Auxiliary Feedwater System (AFW)?

a. AFW pump turbine governor will fail to a HIGH mechanical stop (4500
RPM) .

b. The AFW unit cross connect valve, 1(2) AFW 4550, will fail to the
OPEN position.

s AFAS Block valve, 1(2) AFW 4522, will fail to the OPEN position.

d. Flow control valve, 1(2) AFW 4511, will fail to the OPEN position.



i
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REACTOR OPERATOR

QUESTION: 017 (1.00)

Which of the following factors may cause AFW pump cavitation?
a.

b.

High steam generator pressure
Closed AFW recirculation line valve
High condensate water temperature

Improper AFW Flow Control Valve setting
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QUESTION: 018 (1.00)
An alarm occurs on the liquid waste discharge radiation monitor (RE-2201)
during a discharge of the number 11 Reactor Coolant Waste Monitoring Tank
(RCWMT). The rad. monitor is flushed with demineralized water in an attempt to
reduce background radiation levels. Where is the flush water discharged to?
a. RCWMT 11
b. RCWMT 12
. Miscellaneous waste system

d. in-service degasifier
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QUESTION: 019 (1.00)

Which of the following conditions would cause an uncontrolled release to the
environment that would bypass all filters contained in the normal ventilation
systems?

a. Resin transfer operation
b. Waste gas discharge isolation valve open
X Waste gas surge tank relief valve open

d. Waste gas discharge pressure control valve open
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QUESTION: 020 (1.00)

The Wide Range Noble Gas Monitor (RIC-5415) would detect radioactivity during
which of the foliowing accidents?

a. 40 gpm RCS cold leg leak

b. 40 gpm Letdown Nonregenerative Heat Exchanger to Component Cooling
leak

P 40 gpm leak from the Volume Control Tank

| a. 40 gpm Spent Fuel Pool Heat Exchanger to Service Water leak
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QUESTION: 021 (2.00)

Match the Containment Radiation Monitor in column A with the Tech Spec purpose

for the monitor in column B. (Purpcse in column B may be used once, more than
once, or not at all) [0.5 each]
COLUMN A COLITMN B
CONTAINMENT MONITORS PURPOSE
A. Ctmt.. Area Radiation Monitor - Mouitor effluent noble gas
(RE-5316A-D) content
B. Ctmt. Gaseous Monitor (RE-5281) 2. Monitor containment rad.

levels during accidents
C. Ctmt. High Range Area Rad.

Monicor (RE-5317A/B) 3. Detect RCS Leakage
(RE-5280) product activity during
refueling
5. Monitor radioactive liquid

|
D. Ctmt. Particulate Monitor 4. Stop release of fission
| effluent



REACTOR OPERATOR

QUESTION: 022 (1.00)

Pressurizer level is 40 inches high due to a transient.
auto, what should letdown flow be?

a. 29 GPM
b. 58 GPM
e 128 GPM

d. 256 GPM

Page 28

If all systems are in



REACTOR OPERATOR Page 29

QUESTION: 023 (1.00)

Which design feature protects the charging pump from a loss of NPSH?

a. suction relief to degassifier
b. low suction pressure trip
- Suction stabilizers

2. Dissolved gas in the RCS
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QUESTION: 024 (1.00)

Which statement describes SGIS block permitted per Technical Specifications?

& .

b.

Actuated by 2/4 logic on low SG pressure < 785 psia.
Automatically bypassed on 2/4 logic at > or = 785 psia SG pressure.
Automatically bypassed on 3/4 logic at > or = 785 psia SG pressure.

Actuated by 3/4 logic on low SG pressure < 785 »sia.



REACTOR CPERATOR

QUESTION: 025 (1.00)

All of the following RCP components are cooled by CCW EXCEPT:
a.

b.

Uppe> 0il Reservoir
Thermal Barrier
Integral Heat Exchanger

Journal Bearing

Page 31
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QUESTION: 026 (1.00)

Which of the following conditions indicate that the reactor vessel flange is
leaking by the inner seal?

a. An alarm actuation on panel 1(2) CO09 .
b. Containment temperature and humidity increasing
- A mismatch in charging and letdown flows

d. An alarm actuation on panel 1(2)C06
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QUESTION: 027 (1.00)

Following a LOCA on Unit 1, 13 HPSI pump is operating when RAS actuates.

flow values prior to RAS are:

11A - 140 gpm 11B - 150 gpm
12A - 135 gpm 12B - 150 gpm

What action, if any is SPECIFIED by EOP-5, "Loss of Coolant Accident"?
a. Flows can be left as is, no throttling is necessary
b. Throttle flow equally in each loop to 145 gpm
L. Throttle flow equally in each header to 250 gpm

d. Decrease total flow to 550 gpm

Loop



REACTOR OPERATOR

QUESTION: 028 (1.00)

Given the following conditicus:

1)
2)
3)
4)
5)

OP-2 Reactor startup if in progress
PRZ Press. Ch. Sel.
Pressure setpoint is set to 2200 psia

Equalizing RCS and PZR boron within 10 ppm
PRZ Spray Vlv. Sel.

(H$-100) selected to PIC-100-X

(HS-100-8) selected to both
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At what PZR pressure should spray valves 100E and 100F be fully open?

a.

b.

2225 psia
2250 psia
2275 psia

2300 psia
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QUESTION: 029 (1.00)

Given the following conditions:

1) 100% reactor power

2) PRZ Lvl. Ch. Sel. (HS-110) selected to 110Y

3) PRZ Htr. Lo. Lvl. Cut-off Sel. (HS-100-3) in X/Y position
4) LT-110Y fails low
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Operator response is required to prevent which of the following conditions?

a.

b.

Fill.ng the PZR solid
Low PZR level followed by a low pressure reactor trip
All PZR heaters energized

Low PZR level fcllowed by a TM/LP trip
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QUESTION: 030 (1.00)
Which of the following ten RPS trips CANNOT be automatically BYPASSED?

1) High power (VOPT)

2) Rate of change of power (SUR)

3) Low RCS flow

4) Low S/G level

5) Low S/G pressure

6) High pressurizer pressure

7) Thermal Margin/Low Pressure/Asymmetric S/G transient
8) Loss of load

9) High containment pressure

10) Axial power distribution (APD)

a. 1,3,6,9
DL 1,4,6,9
. 1,2,3,6

d. 1,2,3,4
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QUESTION: 031 (1.00)

Match the following containment systems used to remcve or control hydrogen with
the purpose they serve. [Each system MAY have more than one purpose. There
also may be some purposes listed which do not apply.]

SYSTEM PURPOSE

a. Hydrogen Recombiner : 1Y Not placed into service until 8 days
after accident.
b. Hydrogen Analyzer
2. Automatically starts upon
e Hydrogen Purge System receiving a SIAS and CIS

3. Primary system for maintaining hydrogen
concentration less than 1% following a
LOCA.

4. Uses natural circulation for air flow.

S, Determines hydrogen concentration
within containment.

6. Does not have any Technical
Specifications Operability
regquirements.
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QUESTION: 032 (1.00)

The following spent fuel pool (SFP) conditions exist:

boron concentration - 2250 ppm

SFP level - 66 ft. 7 inches
SFP temperature - 105 deg. F

SFP cooling pump disch. press. - 80 peig

Based upon the above conditions what is the current status of the SFP?

a. All conditions within the normal operating band
B Boron concentraticn low
s SFP temperature lov

o SFP level low
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QUESTION: 033 (1.00)

During a plant startup on U-2, a loss of instrument air occurs with reaccor
power at 16%. What is the response of the main feedwater level control system?

a'

b.

Main Feed Regulating Valves fail to the mid position
Bypass Feed Regulating Valves fail shut
Bypass Feed Regulating Valves fail to 33% open

Main Feed Regulating Valves fail as is (modulated open)
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QUESTION: 034 (1.00)

| Given the following conditions for Unit 1:

1) Mode 5
2) RCS temperature 140 deg. F
3) RCS pressure 250 psig

5) SG temperature 79 deg. F

What is the SG status in regards to Technical Specifications?

a‘

b.

!
r 4) SG pressure 0 psig
!
I
|
|
|
|

Pressure/temperature limitation satisfied

5G temperature high and RCS pressure high, pressure/temperature LCO
not met

SG pressure and temperature low, pressure/temperature LCO not met

SG temperature low and RCS pressure high, pressure/temperature LCO
not met
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QUESTION: 035 (1.00)

How is water hammer minimized when main feedwater in unavailable and SG
temperature is greater than 200 deg. F?

a. If SG level is below -50 inches, shut or maintain shut the MFW
isolation valve and restore level to 0" with AFW.

B. If SG level is below -26 inches, shut or maintain shut the MFW
isolation valve and restore level to 0" with AFW

B If SG level is below -50 inches, trip the main feed pump and restore
level with the condensate booster pump and AFW.

d. If SG level is belcw -26 inches, trip the main feed pump and restore
level with the condensate booster pump and AFW.
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QUESTION: 036 (1.00)

SG Blowdown tank rad monitor RI-4014 alarms HIGH. The high temperature dump
valve is open. Identify what automatic actions will occur, if any.

a. Blowdown shifts to MWS
b. Blowdown shifts to CWS
e. None, manual operator action is required

d. Blowdown isolation CVs go shut
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QUESTION: 037 (1.00)

The site has experienced a Loss of Offsite Power event. Assuming no operator
action takes place, which of the following statements concerning Unit 2 is
correct.

a. None of Unit 2's 4.16 KV buses will be repowered following the
event.

b. Both 4.16 KV buses 21 and 24 will be repowered following the event.
c. Only 4.16 KV bus 21 will be repowered following the event.

d. Only 4.16 KV bus 24 will be repowered following the event.
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QUESTION: 038 (1.00)

Which of the following conditions will NOT trip an EDG during a SIAS condition?

a. Lube o0il pressure low and overspeed
b. Lube ©0il level low and water pressure low
i Jacket coolant pressure low and temperature high

d. High crank case pressure and jacket coolant pressure



QUESTION: 039 (1.00)

To automatically close #12 EDG output breaker onto 4KV bus #14, which of the
following criteria must occur with the breaker hand switch in auto, a normal

electrical lineup (output breakers open and disconnects are shut), and no
operator action?

a. EDG is at rated speed and voltage, a load shed has occurred (UVA), a
U-2 STIAS A has occurred, and no lockouts exist on normal and
alternate 4KV bus feeders and the diesel output breaker.

b. EDG is at rated speed and voltage, a load shed has occurred (UIVB), a
U-1 SIAS B is present, and no lockout exists on the normal and
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|

|

|

| alternate 4KV bus feeders and the diesel output breaker.

- EDG is at rated speed and voltage, a load shed has occurred (UVB), a
U-2 SIAS B has occurred, and no lockout exists on the diesel output
breaker.

|

i d. EDG is at rated speed and voltage, a load shed has occurred (UVA), a
U-1 SIAS A has occurred, and no lockouts exist on the normal and

| alternate 4KV bus feeder breakers.
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QUESTION: 040 (1.00)

Which of the following statements best describes the relationship of the 120
VAC and 125 VDC power to the plant computer?

a. The static inverter feeding the computer has both a 120 VAC and a 125
VDC power supply and it automatically switches on a loss of the 125
VvDC.

b. The static inverter feeding the computer has both a 120 VAC and 125
VDC power supply which manually has to be switched to the 120 VAC
when the 125 VDC is lost.

Bk The static inverter is a backup to the normal 120 VAC power source.
When 120 VAC is lost, power is automatically switched to the 125 VDC
powered inverter.

d. The 125 VDC powered static inverter supplies the #11 120 VAC inverter
bus which in turn supplies power to the plant computer.
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QUESTION: 041 (1.00)

The Salt Water Air Compressors (SWACs) are NOT designed to provide emergency

air to:
a. Auxiliary feedwater valves
b. Safety systems within containment
c. Service water heat exchanger SW normal outlet valves
d. Feedwater control system valves
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QUESTION: 042 (1.00)

Which of the following conditions will AUTOMATICALLY trip a running circulating
water (CW) pump?

a. 2 of 4 intake structure level switches sensing 3.5" of water
B, CW motor temperature greater than 170 deg. F
c. CW water temperature greater than 95 deg. F

d. High traveling screen differential pressure of 21"



i
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QUESTION: 043

(1.00)

125 VDC bus 12 has been lost. Determine which of the following results is

valid.

a.

b.

Loss
Loss
Loss

Unit

of 12 2120 VAC vital instrument bus
of all annunciators on Unit 1
of 12 EDG field flash and control power

1 turbine trip
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QUESTION: 044 (1.00)

Unit 1 is on SDC when RCS pressure inadvertently drifts up to 350 psia. What
automatic functions will protect the SDC system from over pressurizing?

a. SDC suction line relief between SDC return isolation valves, 1-SI-
651-MOV and 1-8SI-652-MOV, will lift to protect the return header.

b. Operator action is required to reduce RCS pressure and protect SDC
system.
- LPSI pumps will trip and their discharge check valves will shut.

d. SDC retnrn isolation valves SI-651-MOV & SI-652-MOV shut and SDC
suction line relief will lift to protect the return header.
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QUESTION: 045 (1.00)

Given the following data on the Quench Tank:

1) pressure 9.5 pseig
2) level 28.5 inches
3) temperature 115 deg. F

Analyze the quench tank parameters and determine if any off normal conditions
exist per log sheets.

a. no concern, all parameters within acceptable operating band
b. pressure toc high
o, level too low

- I temperature too high
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QUESTION:

046 (1.00)

All of the following indications may be used to determine CCW availability to
an RCP EXCEPT for:

a.

b.

CCW Flow Low alarm lit in RCP auxiliary status panel
RCP seal pressure alarms on 1C06
Controlled bleed off high temperature alarms from the computer

CCW Temp High alarm on the RCP auxiliary status panel
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QUESTION: 047 (1.00)
Unit 1 is operating at 4.5% power when the following alarms are received "11
and 12 SERV WATER HEAD TANK LEVEL". Both SRW Head tank levels are decreasing
rapidly. What actions are you required to take according to the alarm manual?
a. Trip the reactor and enter AOP-7B, Loss of Service Water.

b. Isolate SRW to the Turbine Building, trip the reactor and carry out
EOP-0.

c¢. 1Isolate SRW to the Turbine Building, start SWACs and monitor SRW Head
Tank levels.

d. Trip one of the SRW pumps and initiate makeup to the SRW tanks from
the condensate storage tank. QEQ
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QUESTION: 048

(1.

00)

When the upender is NOT vertical or
position, which direction of travel

a.

D,

Bridge
Bridge
Bridge
Bridge

forward travel
forward travel
reverse travel

reverse travel

and
and
and

and
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the CEA change machine is not in the HOME
is prohibited to the bridge and trolley?

trolley right travel
trolley left travel
trolley left travel

trolley right travel
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QUESTION: 049 (1.00)

Per AOP-1B, "CEA Malfunctions", which one of the following is the correct
operator response when two CEAs which have been declared inoperable?

a. trip the reactor and implement EOP-0
B, be in hot standby within six hours
e, restore CEA operability within 1 hour or reduce power to less Lhan

50% of rated Thermal Power within the followiag hour

d. restore CEA operability within 1 hour or reduce power to less than
75% of initial Thermal Power within the following hour
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QUESTION: 050 (1.00)

Which one of the following indications would be used to differentiate between
a LOCA inside containment and a steam line rupture inside containment?

a. Increasing containment sump level
b. Increasing containment temperature
C. Decreasing Pressurizer level

d. Decreasing subcooling margin
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QUESTION: 051 (1.00)

Given the following conditions:

1)
2)
3)
4)
5)
6)

Plant is in Mode 5, RCS Heatup is in progress
RCS pressure is 275 PSIA

SG secondary temperature is 170 deg. F

RCS temperature is 160 deg. F

PZR level 160 inches

11A RCP running for 2 minutes

What action should be tazken if 11B RCP fails to start?

a. Start the 12B RCP immediately
b. Continue the RCS heatup, one RCP is sufficient
c. Attempt to start the 11B RCP within 30 minutes

d. Stop the 11A RCP within 3 minutes
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QUESTION: 052 (1.00)

What action should be taken in regards to the RCPs on a loss of CCW?

a.

b.

Trip all RCPs immediately
Trip RCPs within 10 minutes
Commence an expeditious unit shutdown and then trip RCPs

RCPs may operate as long as pump temperatures remain < or = to
operating limits
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QUESTION: 053 (1.00)
Unit 2 is operating at rated lcad with RCS boron concentration at 900 ppm when
a reactor trip occurs (no SIAS). The RO determines that one CEA has failed to
insert and begins emergency boration. In order to meet the regquirements of
EOP-0 and EOP-1, boration must continue until RCS boron concentration is:
a. 1000 ppm
b. 1100 ppm
s 2100 ppm

d. 2300 ppm
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QUESTION: 054 {1.00)
Unit 1 is at 75% power when the RO discovers that component cooling water (CCW)
has been lost due to a trip of the operating component cooling water pump.
Which of the following immediate actions should the RO take?
a&s Attempt to restart the affected pump

b. Place the hand switch of the affected pump in PULL TO LOCK and start
the standby CCW pump

S Place the hand switch of the affected pump in PULL TO LOCK and
determine the cause for the failure of the failed CCW pump

d. Trip the reactor and perform the immediate actions of E-0.
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QUESTION: 055 [1.00)

During the implementation of EOP-0, "Post-Trip Immediate Actions", it was

necessary to de-energize the CEDM Motor Gernerator sets from the control room in
order to trip the reactor.

Which one of the following describes the reason for the Note regarding

returning the breaker lineup to that existing before the trip when reenergizing
the buses?

a. To ensure that the bus amperages remain balanced.

b. To provide power to components necessary for fast boration.

To prevent inadvertent parallel of vital buses and loss of train
separation.

To satisfy the Technical Specifications requirement for PZR heater
operability.
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QUESTION: 056 (1.00)

Unit 1 is at 80% power when annunciator 1C06, PRESSURIZER PRESS CH 100, alarms
due to low PZR pressure, 2100 PSIA.

Which of the following possible actions would the RO "NOT" take in responding
to this malfunction?

a. Manually trip the reactor
b. Shift pressure control channels
s Manually energize PRZ heaters

d. Place CEDS in Manual Sequential and reduce Tavg.
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QUESTION: 057 (1.00)

Which one of the following represent the HPSI throttling criteria during
implementation of EOP-4 (Excess Steam Demand Event).

a. 30 deg. F loop subcooling, PZR level <180", 1 §/G available as a heat
sink and RVLMS indicates level above mid-loop of the hot leg.

b. 30 deg. F loop subcooling, PZR level >101", 1 §/G available as a heat
sink and no indicated RCS voids.

Os 30 deg. F CET subcooling, PZR level »>1C01", 1 §/G available as a heat
sink and RVLMS indicates level above mid-loop of the hot leg.

d. 30 deg. F CET subcooling, PZR level >101", 1 §/G available as a heat
sink and RVLMS indicates level above top of the hot leg.
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QUESTION: 058 (1.00)

Unit 1 is at 300 MWE with condenser vacuum at 23.5 inches Hg. Which of the
following actions should the operator take with the approval of the SS/CRS?

a. Reduce power and try to restore vacuum to greater than 24.5 inches
Hg. 1If vacuum has not been restored to greater than 24.5 inches Hg
within 10 minutes, trip the reactor.

b. Reduce power and try to restore vacuum to greater than 24.5 inches
Hg. If differential piessure between condensers becomes greater than
2 inches Hg, then trip the reactor.

C. Since condenser vacuum is less than 25 inches Hg, trip the reactor.

d. Reduce power and try to restore vacuum to greater than 25 inches Hg.
If condenser vacuum drops to 22.5 inches Hg, trip the reactor.
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QUESTION: 059 (1.00)

Natural circulation flow is determined to have been established

a. when pressurizer level begins to slowly decrease.
b. when CET temperatures consistently trend with Thot.
e, when the RCS is at least 30 degrees F subcooled.

d. when steam generator saturation pressure becomes greater than RCS
saturation pressure.
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QUESTION: 060 (1.00)

Which one of the following is the reason the 4KV Bus load breakers must be
opened prior to re-energizing the 4KV bus?

a. Prevent the 4KV bus locads from tripping on under voltage

b. An electrical interlock will prevent the 4KV Bus feeder breaker from
closing

" Prevent overloading the power source from starting currents

d. Prevent unnecessary equipment from starting
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QUESTION:

061 (1.00)

An alarm occurs on the liquid waste discharge radiation monitor (RE-2201)
during a discharge of the 11 RCWMT. The Rad monitor is flushed with
demineralized water in an attempt to reduce background radiation levels. Where
is the flush water discharged to?

a.

b.

RCWMT 11
RCWMT 12
Miscellaneous Waste System

Circulating water discharge system
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QUESTION: 062 (1.00)

To override the fire induced signals from a control room fire, specific actions
are taken to maintain positive control of plant eguipment outside the control
room. Which of the following set of conditions represent the actions taken?

a. Close fuses pulled and breakers tripped locally, local/remote key
switches placed in LOCAL, 480 V load centers are stripped, and vital
MCCs are stripped of unnecessary loads.

D Breakers tripped and racked out, 4KV busses are stripped and close
fuses are removed, and all vital MCCs are stripped and tied together.

Ce EDGs and 4KV breakers with local/remote key switches are placed in
LOCAL to maintain positive control of operation; all other equipment
affected by the fire continues to operate.

d. EDGs placed in LOCAL, #12 EDG is used to supply two 4KV busses, 480
V load centers are stripped, and vital MCCs are deenergized and
stripped then tied together.
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-UESTION:

063 (1.00)

During AOP-9A, "Control Room Evacuation and Safe Shutdown Due to a Severe
Control Room Fire", the Unit-1 Turbine Building Operator (TBO) must perform
actions to restore power to 1Y09 and then tie 1Y10 to 1Y09. The Unit-2 TBO
strips MCC-201BT. Select the statement that explains why these actions are
being performed.

a.

To restore power to the lights in the switchgear rooms and the Unit-2
turbine turning gear motor only.

To restore power to the ESFAS sensor cabinets and the ventilation to
the switchgear rooms.

To restore power to the control room ventilation system to aid in
smoke removal and the CST makeup pump.

To restore power to the plant paging system and a well water pump to
provide a continued source of makeup water for use.
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QUESTION: 064 (1.00)

When, if ever, is containment integrity "NOT" required by Technical
Specifications?

a. Mode 4
b. Mode 5
- Mode 6

d. Containment integrity is required in all modes of operation



.
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QUESTION: 065 (1.00)

One of the major actions performed during EOP-3, "Loss of All Feedwater", is a
cooldown to less than 465 deg. F. The consequences of failing to perform this
coocldown results in the:

a. inability of AFW to be initiated to the S/Gs after they have
completely gone dry.

b. loss of RCS integrity and th2 possibility of initiating a core melt
sequence due to inadequate core cooling.

c. initiation of a PTS event once the S/Gs have been lost as a heat
sink.
d. inability of the condensate booster pumps to be used as a backup

source of feed to the S/Gs.
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QUESTION: 066 (1.00)
Given the following plant conditions:
Unit 1 reactor tripped
€/G 11 pressure is 8%0 psia
S/G 12 pressure is 750 psia
8/G 11 level is -180 inches
8/G 12 level is -210 inches
Which one of the following actions is expected to have occurred?
a. AFW blocking valves to #11 and #12 S/Gs should have closed.
b. AFW blocking valves to #12 S/G should have closed.
e, 11 and 13 AFW pumps should have tripped.

d. 11 AFW pump should have tripped.
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QUESTION: 067 (1.00)
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Match the PZR pressure control signals in column A, with the PZR pressure

deviation from setpoint in column B. (Setpoints in column B may only be used
once or not at alil.) [0.25 each]
COLUMN A COLUMN B
CONTROL SIGNAL DEVIATION FROM SETPOINT
a. Spray valves full open R -25 psi
b. Zero power to proportional heaters 2 0 psi
& Full power to proportional heaters - ¥ +25 psi
d. Spray valves start to open 4. +50 psi
5. +75 psi
6. +100 psi
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QUESTION: 068 (1.00)

Page 74

Select the VCT level from column B that initiates each automatic control

function in column A. (Levels in column B may be used once, more than once, or
not at all) [0.25 each]
COLUMN A COLUMN B
AUTOMATIC CONTROL FUNCTIONS VCT LEVELS
a. Automatic makeup starts 116.0 inches
b. Automatic makeup stops 112.5 inches
e Charging pump suction transfers 110.0 inches

from VCT to RWT

d. Letdown diverts to waste
processing system

a. 6,4,7,3
| 5,4,8,3
M. 5,3,8,2

d. 6,3,8,4

104.0 inches
90.0 inches
87.5 inches
8.7 inches

3.0 inches
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QUESTION: 069 (1.00)

The following plant conditions exist:

RCS temperature - 180 deg. F
Pressurizer Level - 160" 4n0 DECREASING
Pressurizer Pressure - 197 psia

11 8/G level - +10"

1z S/G level - +20"

Aux Feedwater . Available

P - 6oL

Shutdown cooling flow - 0 gpm

What action must be taken prior to re-establishing shutdown cooling?
a. Fill the RCS with LPSI pump

b. Fill the RCS with containment spray

- Fill the RCS with HPSI pump

d. Begin steaming 11 and 12 8/Gs
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QUESTION: 070 (1.00)

Which one of the following is the reason that RCS pressure must be below 170
psia when aligning the containment spray pumps to supply shutdown cooling flow?

a. Prevents the CS pump from running at shutoff head

b. Prevents over pressurization of the ECCS pump suction headers

c. Prevents the automatic shutting at 200 psia of the SDC return valve,
SI-652

d. Prevents the lifting of the SDC heat exchanger relief valve at 190

psia



REACTOR OPERATOR Page 77

QUESTION: 071 (1.00)

How many decades of range overlap are required between the Wide Range NIs and
the Power Range NIs at 1% power?

a. Zero
5. One
o Two

d. Three
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QUESTION: 072 (1.00)

Which NI indication is lost on a loss of 120 VAC bus 1Y01?
a. 1C15 channel B Wide Range
b. 1C15 channel B Linear Range
i 2C43 channel A aux excore wide range

d. 1C43 channel A aux excore wide range
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QUESTION: 073 (1.00)

Unit 2 has the following conditions:

RCS Th - 530 deg. F and constant

RCS Tc - 520 deg. F and constant

RCS Pressure - 1550 psia and decreasing
Pressurizer Level - 75" and decreasing

RCS Subcooling - 70 deg. and slowly decreasing
Containment Rad Monitors - Clear

"Unit Cndsr Off-Gas" Alarm - Actuated

Containment pressure - 0.3 PSIG

Containment Temperature - 110 deg. F

Based upon the above conditions, IDENTIFY from below the current status of the
unit,

a. Unit 2 is experiencing a Loss of Coolant Accident.
b. Unit 2 is experiencing a steam generator steam line break accident.
8. Unit 2 is experiencing a steam generator tube leak incident.

d. Unit 2 has experienced an uncomplicated reactor trip.
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QUESTION: 074 (1.00)

One of the first strategies during EOP-6, Steam Generator Tube Rupture, is to
cool the RCS to 515 deg. F. The importance of this action is based upon:

a. minimizing the differential pressure across the break thereby
reducing the flow rate.

b. initiating natural circulation flow as soon as possible during the
event.

c. minimizing further uncontrolled radiocactive releases to the
environment.

d. maintaining RCS subcooling greater than the saturation pressure for

the affected S/G.
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QUESTION: 075 (1.00)

EOP-3, Loss of All Feedwater, requires that Once Through Core Cooling be
initiated prior to CETs reaching 560 deg. F. The reason it must be initiated
prior to this temperature is:

a. to ensure adequate cooling of the core takes place under all
operating conditions

b. to prevent fuel damage which would occur at a temperature higher than
560 deg. F

Ci because at this temperature RCS pressure is low enough to ensure @
minimum adequate flow rate

d. to ensure RCS voiding does not occur in sufficient amounte to prevent
adequate flow through the core
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QUESTION: C76 (1.00)

250 VDC bus 13 has been lost. Determine which of the following
valid.

a. An immediate turbine/generator trip will result.
b. The seal o0il system normal supply is lost.
. Turbine control power backup supply is lost.

d. Emergency lube oil pumps are lost.
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coniitions is
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QUESTION: 077 (1.00)

During a waste gas decay tank release through the Unit 1 plant vent, the waste
gas discharge radiation monitor (RI-2191) alarme. Which valve must be manually
shut to prevent a possible waste gas decay tank discharge to the waste gas
surge tank?

a.

b.

Waste gas discharge isolation (WGS-2191-CV)
Waste gas discharge to Unit 1 plant vent (WGS-683)
Waste gas discharge pressure control (WGS-2191-PCV)

Waste gas discharge final filter bypass (WGS-630)
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QUESTION: 078 (1.00)

What details must be provided in the entry to the CRO’s Log when declaring an
RMS channel out of service?

a. Method for pre-planned alternate sampling, what technical
specification actions are required, and name of person notified of
the inoperable channel.

b. Alternate RMS channel placed in ser rice, name of the person placing
the alternate channel in service, and technical specification actions
incurred.

Name of person flushing the monitor prior to declaring it inoperable,
name of person notified that the monitor is inoperable, and the
technical specification actions incurred.

Technical specification actions incurred and the name of the person
notified of the inoperable channel
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QUESTION: 079 (1.00)
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Match the instrument air pressures in column A with the appropriate actions in
column B, Each action can only be used once.

A
a. 39 psig
b. 75 psig
& 85 psig

d. 93 psig

[0.25 points each]
B
standby instrument air compressor starts
affected IA and PA compressors should be stopped
reactor and turbine trip are warranted

instrument air to containment non-essential loads
isoclates

plant air to instrument air cross-connect valve
opens

PA header isolation valve closes to allow PA
compressor to discharge to IA system only
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QUESTION: 080 (1.00)

The Refueling Control Room Operator (RCRO) gives the Fuel Handling Supervisor
(FHS) the following information:

Shutdown margin - 2450 ppm
Reactor fuel pool level - 66 feet
Source Range Monitor, Ch. A - E-4 cps
i ;i ’ Ch. B - 1200 cps
» . . Ch. C - erratic reading
. . " Ch. D - E-4 cps

Which of the following actions should the FHS take if a fuel assembly (FA) is
being inserted into the core during this condition?

a. The Refueling Machine Operator (RMO) should continue to insert the FA
into the indexed core location, but does not ungrapple it and the
Shift Supervisor should contact the NI System Engineer to
investigate.

b. The FHS should direct the RMO to stop insertion of the FA into the
core until 2 NI channels are restored to operation.

S The Shift Supervisor should direct the NI Systems Engineer to
investigate, but should also continue with refueling by stationing an
additional watch to monitor the count rate.

d. Core alterations should be stopped, the FA moved out of the core area
to a safe location, and the RCS boron value verified to be equal to
or greater than specified in NEOP-23 Fig. 2-I1II1.A.6.
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QUESTION: 081 (1.00)

In response to a loss of offsite power event, which of the follcwing is one of
the reasons for shutting both MSIVs and securing SG blowdown?

a. prevent ADVs from lifting
b. prevent overcooling of the RCS
- protect condenser from over pressurization

d. provide a reliable steam source for the turbine driven AFW pump
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QUESTION: 082 (1.00)

A worker spends 10 hours in an airborne contaminated area containing a
radicactive isotope at the DERIVED AIRBORNE CONCENTRATION of 10 CFR 20. After
exiting the area, it was determined that the operator’s respirator was
defective and provided no protection. "WHICH" of the following is the maximum
committed effective dose equivalent (CEDE) he could have received?

a.

b.

5000 mrem
250 mrem

25 mrem

5 mrem
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QUESTION: 083 (1.00)

Which one of the following individuals must authorize an entry into containment
via the emergency airlock?

a. Supervisor - Radiation Control Operations
b. Radiation Control Shift Supervisor
g. Shift Supervisor

d. Control Room Supervisor
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QUESTION: 084

(1.00)

Page 920

A "locked" high radiation area by definition in CCI-800, "Calvert Cliffs

Radiation Safety Manual", is an area in which radiation levels could result in
an individual receiving

surface that

a.

b'

in
in
in

in

from the radiation source or from any

the radiation penetrates.

excess

excess

excess

excess

of 1 mSv in one hour at 30 cm
of 1 rem in one hour
of 100 mrem in one hour

of 10 mSv in one hour at 30 cm



REACTOR OPERATOR Page 91

QUESTION: 085 (1.00)

Fluid systems that are PRESENTLY OPERATING with temperatures greater than
or pressures greater than should be isolated from the
work area by two shut valves in series.

200 deg. F; 400 PSIG

b. 200 deg. F; 500 PSIG
c. 250 deg. F; 400 PSIG
F

d. 250 deg. F; 500 PSIG
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QUESTION: 086 (1.00)

Three of the four conditions listed below are valid conditions for performing
maintenance on a fluid system without isolating and safety tagging the system.
IDENTIFY which of the following conditions is NOT wvalid.

a. The scope of work does NOT require breaching of pressure boundaries.

b. The work scope is considered post maintenance followup of a minor
nature necessary tc satisfy post maintenance testing requirements.

e. The scope of work has been evaluated by the Responsible Maintenance
Group Supervisor and Shift Supervisor and it has been determined that
both worker and plant safety will NOT be compromised AND the boundary
that would be established by the tagout WOULD provide personnel or
eguipment protection.

d. The workx must be performed to ENHANCE plant reliability and safety
AND the boundaries to be established would alsc REDUCE reliability
and safety of the plant.
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QUESTION: 087 (1.00)
Which of the responsibilities listed below is correct for watchstanders?

a. A qualified watchstander may direct a trainee to take the required
watchstation readings provided the watchstander was directed by the
S8 or CRS to perform a higher priority task and the watchstander
takes full responsibility for reviewing the accuracy and completeness
of the logs.

b. Under minimum crew conditions, the CRS may direct a watchstander
qualified on both units to take daily logs of both units’
watchstations.

c. Any log reading required by Technical Specifications which is out of
its allowable range shall be reported to the control room immediately
following the completion of the inspection round.

d. 1In the event plant conditions preclude taking log readings within the
specified time limit, readings may be omitted provided prior approval
is obtained from either the SS or CRS.
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QUESTION: 088 (1.00)

Units 1 and 2 are operating at rated power with minimum shift staffing. A loss
of offsite power causes both units to trip. The Control Room Supervisor (CRS)
begins implementing EOP-0, "Post-Trip Immediate Actions", for Unit 1. Which
one of the following individuals is responsible for implementing EOP-0 as the
CRS for Unit 27?

a. Shift Supervisor
b. Control Room Operator, Unit 2
e Shift Technical Advisor

d. Plant Watch Supervisor
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QUESTION: 089 (1.00)
Certain plant conditions require the establishment of a fire watch patrol.
Which one of the following describes the normal control room reporting time(s)
for the fire watch patrol?
a. At the beginning, middle and end of shift only
b. At the beginning and middle of shift only
2. Every two hours on the hour

d. Every hour on the hour
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QUESTION: 090 (1.00)

Wnich ONE of the foliowing describes the method to be used to perform the
second check of a locked closed marual valve?

a. Attempt to move the valve operator in the closed direction without
removing the locking device.

b. Remove the locking device and attempt to move the valve in the closed
direction only, then relock the valve.

- Verify the locking device is installed properly without any attempt
to move the valve and use valve stem rise to determine position.

d. Remove the locking device, open the valve 1/8 of a turn, turn the
valve in the opposite direction until tightly closed, then reinstall
the locking device.
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QUESTION: 091 (1.00)

For a Design Base Loss of Coolant Accident, what is the major contributor of

hydrogen in the containment building?

a.

b.

Metal water reaction
Corrosion
RCS hydrogen overpressure

radiolysis

Page 97
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QUESTION: 092 (1.00)

Following a RAS,
certain metals in containment by raising the pH of the recirculated borated

Page 98

prevents stress corrosion cracking of

water solution to a final value of 7.0.

a,

b.

Lithium hydroxide
Ammonia
Morphaline

Trisodium phosphate
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QUESTION: 093 (1.00)

An operator makes a reguest to work the following hours:

BEGIN END
4/4/94 - 1800 4/5/94 - 0600
4/5/94 - 1800 4/6/94 - 0700
4/6/94 - 1900 4/7/94 - (600
4/7/%4 - 1800 4/8/94 - 0600
4/8/94 OFF 4/9/94
4/10/94 - 0700 4/10/94 - 1900
$/11/94 - 0600 4/11/94 - 1900

Which of the following describes the response the supervisor should make to
this request?

a. Grant the request because it meets CCI-159 overtime limit
requirements.

b. Deny the request because it fails to meet the 7 day period overtime
requirement of CCI-159.

<. Deny the request because it fails to meet the 48 hour period overtime
requirement of CCI-159.

d. Derny the request because it fails to meet both the 7 day and 48 hour
period overtime requirements of CCI-159.
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QUESTION: 094 (1.00)

The purpose of the Operational Support Center (0SC) is to provide:

a. technical support to plant operations personnel during emergency
conditions.
b. management of overall BG&E response during emergency conditions.

c. coordination of radiological and environmental assessment and receipt
and analysis of all field monitoring data during emergency
conditions.

- plant operational, radiological, chemistry, maintenance, and
materials support during emergency conditions.
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QUESTION: 095 (1.00)

Following a plant trip from 100% power, the following plant conditions are
noted:

core burnup
RCS Tc

ADVs

TBVs

11 S/G level
12 S/G level
8§/G pressure
AFW

MFW

RCPs

PZR level
PZR pressure

EOP-0 has been implemented.

8,000 MWD/MTU

522 deg. F and decreasing

in auto; full closed

in auto; full closed

-100"

-88"

827 psia decreasing slightly
secured

in auto; increasing level to 0"
all 4 running

115" and decreasing

2010 psia and decreasing

The cause for the above plant condition is:

a. Excess steam demand with low amount of available decay heat

b. Misoperation of the ADVs, TBVe or a stuck open S/G safety

C: Excegsive feedwater flow

d. Small RCS leak
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QUESTION: 0

Unit 2 has

96 (1.00)

experienced a small break LOCA. Using the following plant

conditions calculate the subcooling margin.
CET temperature - 600 deg. F
RCPs - all 4 stopped
PZR level - 300"
Thot - 590 deg. F
Tcold - 560 deg. F
PZR pressure - 1480 psia (lowest)-1490 psia (highest)
a. 5 deg. F subcooled
b. 0 deg. F subcooled
& 5 deg. F above saturation temperature
d. 10 deg. F above saturation temperature
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QUESTION: 097 (1.00)

The plant has experienced a LOCA with the following plant conditions:

CET - 510 deg. F

RWT level - 22'10"

PZR level . 180"

Thot - 500 deg. F

Tcold - 480 deg. F

PZR pressure - 1320 psia (lowest)-1335 psia (highest)
RCP - all 4 OFF

Based upon the above plant conditions, which of the following action should the
operator take in response to this event?

a. Verify that SIAS, CIS and CSAS have properly initiated and realign
safety injection to a recirculation mode upon receipt of a RAS.

b. Establish and maintain core and RCS heat removal via natural
circulation.

c. Establish and maintain natural circulation flow while adjusting HPSI
flow to provide inventory control.

4. Maximize charging, minimize letdown, and monitor core and RCS heat
removal for further degradation.

(#xxwwrnrrs END OF EXAMINATION **wakswsan)
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NRC RULES AND GUIDELINES FOR LICENSE EXAMINATIONS

During the administration of this examination the following rules apply:

1.

Ly

i3,

Cheating on the examination means an automatic denial of your application
and could result in more severe penalties.

After the examination has been completed, you must sign the statement on
the cover sheet indicating that the work is your owa and you have not
received or given assistance in completing the examination. This must be
done after you compl2te the examination.

Restroom trips are to be limited and only one applicant at a time may
leave. You must aveoid all contacts with anyone outside the examination
room to avoid even the appearance or possibility of cheating.

Use black ink or dark pencil ONLY to facilitate legible reproductions.

Print your name in .ne blank provided in the upper :1igit-hand corner of
the examination co.2r sheet and each answer sheet.

- Mark your answers on the answer sheet provided. USE ONLY THE PAPER PROVIDED

AND DO NOT WRITE ON THE BACK SIDE OF THE PAGE.

. Before you turn in your examination, consecutively number each answer sheet,

including any additional pages inserted when writing your answers on the
examination guestion page.

Use abbreviations only if they are commonly used in facility literature.
Avoid using symbols such as < or > signs to avoid a simple transposition
error resulting in an incorrect answer. Write it out.

The point value for 2ach question is indicated in parentheses after the
question.

Show all calculations, methods, or assumptions used to obtain an answer to
any short answer guestions.

Partial credit may be given except on multiple choice questions. Therefore,
ANSWER ALL PARTS OF THE QUESTION AND DO NOT LEAVE ANY ANSWER BLANK.

Proportional gradi g will be applied. Any additic.al wrong information
that is provided may count against you. For example, i. a question is
worth one point and asks for four responses, each of which is worth 0.25
points, and you give five responses, each of your responses will be worth
0.20 points. 1If one of your five responses is incorrect, 0.20 will be
deducted and your total credit for that gquestion will be 0.80 instead of
1.00 even though you got the four correct answers.

If the intent of a question is unclear, ask questions of the examiner only.
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When turning in you examination, assemble the comp .eted examination with
examination questiors, examination aids and answer sheets. In additiom,
turn in all scrap paper.

Ensure all informaticz. you wish to have evaluated as part of your answer is
on your answer sheet. Scrap paper will be disposed of immediately following
the examination.

To pass the examination, you must achieve a grade of B80% or greater.
There is a time limit of four (4) hours for completion of the examination.
When you are done and have turned in your examination, leave the examination

area (EXAMINER WILL DEFINE THE AREA). If you are found in this area while
the examination is still in progress, your license may be denied or revoked.
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QUESTION:

001 (2.00)

Unit 2 is at 2% percent power. Figure 1 illustrates the basic Control Element
Drive Mechanism. Usin: Figure 1 for reference, identity which of the following
electrical sequences correctly describe the seguence >f actions which occur
following the receipt of a CEA withdrawal signal.

a.

Lower gripper coil-on; load transfer coil-on; upper gripper coil-off;
lift coil-or; pull down coil-on; upper gripper coil-on/pull down
coil-off; lcad transfer coil-off; lower gripper coil-off

Lift coil-on; load transfer coil-on; lower gripper coil-on; upper
gripper coil-off; lift coil-off/pull down cnil-on; upper gripper
coil-on/pu.il down coil-off; load transfer coil-off; lower gripper
coil-off.

Lower gripper coil-on; load transfer coil-on; lift coil-on; upper
gripper cc.l-off; pull down coil-on; upper gripper coil-on/pull down
coil-off; lcad transfer coil-off; lower gripper coil-off

Lift coil-on; lower gripper coil-on; load transfer coil-on; upper
gripper coil -off; lift coil-off/pull down coil-on; upper gripper

coil-on/pull down ccil-off; load transfer coil-off; lower gripper
coil-off.
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QUESTION: 002 (1.00)

Which of the following conditions will cause a Shutdown Bank Permissive (MISH)
CEA Motion Inhibit siunal to be generated?

a. Shutdown CE2 position above 130.5 inches
b. Shutdown CEX position below 12% inches
-~ Regulating CEA position above 10 inches

d. Regulating CEA position below 10 inches
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QUESTION: 003 (2.00)

The following RCP readings were taken with Unit 1 oper-ating at 100% power.

11A 11B 12A 12B

785% 1000 800 760 Upper seal pressure
1480 1500 1450 1525 Middle s<al pressure
17% F 150 F 180 F 110 F Lower seal temperature
110 F 118 F 115 ¥ 105 F CBO temperature

For each pump, select from the right hand column those items which apply. One
answer per pump, but pump conditions (1-7) may be used more than once.
[0.5 each)
AL
ﬂrr—~4HH¥-¥P partial or complete upp=r seal failure
partial or complete midile seal failure
partial or complete low=r seal failure
loss of component cooling water to RCP
high bleed off temperature
low bleed off temperature
all specifications within normal operating range

b. 3 }B qu\:‘\"
d. 12B

B I TG B R PR S IR
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QUESTION: 004 (1.00)

Which of the following routine evolutions will NOT eff-ct Letdown Temperature?

a. Increasing (narging flow from the CVCS8 system to the RCS system
b. Increasing falt Water flow to the Component Cooling Heat Exchangers
e, Increasing (omponent Cooling Head Tank level via the Demineralized

Water System

d. Placing the Steam Generator Blowdown Radiation Monitor Sample Cooler
into service
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QUESTION: 00% (1.00)

Unit 2 is in Mode 3 with all CEAs inserted following &« normal plant shutdown,
when an invalid SIAS o>curs. What set of procedures should be reterenced to
determine the operatol actions required?

a. Emergency Procedures
b. Abnormal Operating Procedures
e, Normal Operating Procedures

d. Alarm Respor.se Procedures

N == - - TR e - L e T N s | N T N~
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QUESTION: 00€ (1.00)

alarms due to a loss of the "2G" Sensor Cabinet. Witain one hour the
inoperable channel way deenergized. After the 2G sensor channel was
deenergized, what was the resultant SIAS trip logic for the remaining channelg?

a. 1 of 2
b. 1 of 3
R 2 of 3

Unit 1 is «t 100% powe.: when the "Actuation System Loss of Power" annunciator
d. 3 of 3
|
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QUESTION: 007 (1.00)
During an extended loss of the Unit 1 plant computer, it becomes necessary to
insert the group 5 CEAs at the end of the hour. The counter readings were
taken before and aftes CEA insertion from an ARO conditicn. If the counter
readings increased by 10, what is the new group 5 CEA heigat? Assume the UEL
light was 1it for ARC.
a. 120 inches
b. 120.5 inches
> 127.5 inches

4. 128 inches
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QUESTION: 008 (1.00)
Unit 1 is at 100% powe: when the high voltage to the B Upper Uncompensated Ion
Chamber detector assenbly is lost. As a result, which of the following RPS
trips would NOT be activated in the B RPS channel.
a. Axial Power Distribution (APD) trip
b. Thermal Margin/Low Pressure (TM/LP) trip
g High Start Up Rate (SUR) trip

d. Variable Over Power Trip (VOPT)
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QUESTION: 009 (1.00)

Page 15

FIVE MINUTES after core uncovery following a small bi:ak 10CA, the CRO should

expect to see CET temveratures that are

a.

b.

1% to 30 decrees greater than Tsat
15 to 30 decrees greater than Thot
approximately equal to Tsat

10 to 15 degrees less than Tsat
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QUESTION: 010 {(1.00)
A LOCA has occurred and the following conditions exisr:

containment temperature = 300 deg. F

containment pressure = 50 psig
Which of the following automatic Containment Cooling System actions would "NOT"
occur?
a. An 8 inch control valve in a parallel Service Water supply line of
each cooling unit would open.
& ) The fusible link doors of each cooling unit would open.
| & A fourth cooling unit would be placed into :ervice.
d. Each cooling unit’s fan drive would switch to high speed.
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QUESTION: 011 (1.00)
The starting duty limi:ations for a containment spray pump are:
a. Limited to ro more than € starts per hour
b. Limited to r.> more than 3 starts per hour
= Unlimited if the pump is operated for 15 minutes after each start

d. Unlimited it the pump is operated for 5 minutes after each start
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[ QUESTION: 012 (1.00)
Which statement is "NCT" a function of the Containmer* Spray System
a. Fill the RCS during SDC
b. Fill the SITs during Hot Standby
oy Provide co'ling water to HPSI pumps during post RAS conditions

d. Maintain SDC flow when both LPSI pumps are inoperable
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QUESTION: €13 (1.00)

Match the Unit 2 pump combination in colura A with the "NORMAL" operating power
limit in column B

COLUMN A COL'TMN E

PUMP COMBINATION POWER LIMIT
A. 1 Condensate pump < 1%
1 Condensate booster pump 2. < 25%
3. < 50%

B. 2 Condensate pumps 4. 25 to 70%

2 Condensate booster pumps 5, 50 to 70%

€. 23 o 80%

C. 3 Condensate pumps T 50 to 80%
2 Condensate booster pumps 8. > 70%
9. > BD%
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QUESTION: 014 (1.00)

What is the maximum Technical Specification response time to reduce feedwater
flow to 5% following a reactor trip?

a. Within 60 =eccnds
b. Within 45 seccnds
O Within 30 se:onds
d. Within 20 seconds
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QUESTION: 015 [(1.C0)

Main feedwater has been lost to SG #11. Present SG levsl is minus (-)30 inches
and SG temperature is 232 deg. F. What actions should the operator take to
restore SG level?

a. Shut the mair. feedwater (MFW) isolation valve and restore level with
the AFW pump.

b. Trip the main feed pump and restore level with the condensate booster

pump.
£, Transfer Main Feedwater Regulating Valve (MFRV) control from
Automatic to Manual and then take necessary steps tO restore main
feedwater.
d. Place the MFfRV in manual, switch to and verify alternate level

transmitter provides correct readings, return MFRV to auto and
monitor SG lavel response.
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QUESTION: 016 (1.00)

A Unit 1 turbine trip has just occurred due to low be2i1ing oil pressure, What
ig the response of the main feedwater regulating bypass vilve to this event?

a. Bypass continller output signal is grounded to shut the valve.

b. Valve goes to the position determined by the rypass controller output
signal.

c. Valves goes "o the 50% output position from the bypass trip setpoint
controller.

d. Valve goes to the 33% output position from the bypéss trip setpoint
controller.
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QUESTION:

017 (1.00)

Given the following ccaditions for Unit 1:

- % % »

12 Condensat= Storage Tank - 75,000 gallons remaining

RCS is in Hor Standby

Loss of offsite power has occurred

Steam generators are discharging steam to atnosphere to maintain RCS
temperature

How long will 12 CST supply water to the AFW pumps?

a.

b.

3 hours
4 hours
& hours

B hours
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a.
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QUESTION: 018 (1.00)

High steam cznerator pressure

Closed AFW racirculation line valve

High condensate water temperature

(.S-v

Improper AFW Flow Control Valve setting

R L ——————
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Which of the followiny [actors may cause AFW pump cavitation?
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QUESTION: 019 (1.00)

A new ligquid radicactive release permit must be issued if tank contents

increase by a minimum of 5
a. 2
b. 2
S 5

d. 10
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QUESTION:

020 (1.00)

Why is it important t¢ secure a waste gas discharge as soon as possible
whenever the discharge control valves shut on a high RMS alarm?

da.

To prevent the header relief valve from lifting and discharging to
the containm2nt system headers.

To prevent &1 unmonitored release.

To prevent tine header relief valve from lifc.ing and discharging to
the main vent.

To prevent the header relief valve from lifting and discharging to
the surge tank.
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QUESTION:

Which radiation monitcr does NOT provide an input to “he SPDS?

a.

b.

021 (1.00)

Condenser Offgas (RE-1752)
Main Vent Gaseous (RE-5415)
Gaseous Wa-te (RE-218%81)

Containment Hi-Range (RE-5317-B)

Page 27
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QUESTION: 022 (1.00)

When using the Auxiliary Spray valve (CV-517, what tempesrature inputs are used
to determine the 400 dzg. F differential temperature limit reguired by Tech.
Specs.?

a. Charging inlet and RCS hot leg temperature
b. Regenerative HX charging inlet temperature and CETs
C. Regenerative HX charging outlet temperature and PZR temperature

d. RCS cold leg temperature and PZR temperature
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A LOCA is in progress with RCS pressure at 1200 psia and RWT level at 153
inches. What conditior can cause the receipt of the "11 HPSI PUMP DISCHARGE
PRESSURE HI ALARM" &nd "SI PPs RECIRC MOV 659/660 CLOSED/RAS" alarms?

a. HPSI Main =eader Isolation MOV SI-654 shut

b. HPSI AUX Hecder Isolation MOV-656 shut

. 11 HPSI Pump running at minimum flow

|
|
QUESTION: 023 {1.00)
4. Mini Flow Return to RWT Isoclation MOV S8I-€53 closed
I
|
|
|
I
|



SENIOR REACTOR OPERATOR Page 30

QUESTION: 024 (1.00)
Given the following conditions:
1) 100% reactor power
2) HS-100 selected tc PIC-100-X (AUTO)
3) Pressure setpoint is set to 2250 psia
4) HS~-100-8 selected to both

At what PZR pressure will the proportional heaters have full power and zero
power?

a. 2200 and 2250 psia
b. 2225 and 2275 psia
€. 2235 and 2265 psia

d. 2250 and 2300 psia

&
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QUESTION: 025 (1.00)

Given the following conditions:

1) 100% reactor power

2) PRZ Lvl. Ch. Sel. (HS-110) selected to 110Y

3) PRZ Htr. Lo. Lvl. Cut-off Sel. (HS-100-3) in X/Y position

4) LT-110Y fails low

Operator response is required to prevent which of the following conditions?
a. Filling the PZR solid
b. Low PZR level followed by a low pressure reactor trip

C. All PZR heaters energized

d. Low PZR level followed by a TM/LP trip
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QUESTION: 026 (1.00)

Which of the following reactor variables will cause the TM/LP setpoint toO
INCREASE? [More than one answer may be correct]

a. PZR. pressure increases
b. RCS flow decreases
I8 Tc decreases

d. ASI increases
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QUESTION: 027 {1.00)

Match the following containment systems used to remove oy control hydrogen with
the purpose they serve. [Each system MAY have more than one purpose. There
also may be some purpcses listed which do not apply.)

S/STEM PUF POSE

a. Hydrogen Recombiner 5 Not placed in-o service until B days
after acciden:.
b. Hydrogen Analyzer
2 Automatically starts upon
o Hydrogen Purge System receiving a SIAS and CIS

3. Primary system for maintaining hydrogen
concentration less than 1% feollowing a
LOCA.

4. Uses natural circulation for air flow.

. Determines hydrogen concentration
within containment.

6. Does not have any Technical
Specifications Operability
reguirements.
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QUESTION: 028 (1.00)

The makeup source to tre Spent Fuel Pools is _and is used
to cool the heat exchangers in the system. CHOOSE fromr below the answer which
correctly fills in the blanks.

a. Demineralized water, Service Water
b. Demineraliz=d water, Component Cooling Wate:r
P Condensate water, Service Water o

d. Condensate water, Component Cooling Water
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QUESTION: 029 (1.00)

A failure of both Micromax 6000 computers on the Full Range Digital Feedwater
Control System can be identified by:

a. a solid LED lit on the MFV, BFV and SGFP controllers

B a solid LED lit on the MFV, BFV and SGFP cuntrollers and all 3
controllers in manual

e a blinking LED lit on the MFV, BFV, FRV D/P and SGFP controllers

d. a blinking LED lit on the MFV, BFV, SGFP coatrollers and all 3
controllers in manual
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Page 36
QUESTION: 030 (1.00)
Given the following ccnditions for Unit 1:
1) Mode 5
2) RCS temperature 140 deg. F
3) RCS pressure 250 psig
4 SG pressure 0 p#ig
5 SG temperature ~9 deg. F
What is the SG status in regards to Technical Specifications?
a. Pressure/temoerature limitation satisfied
B SG temperatu'‘e high and RCS pressure high, pressure/temperature LCO
not met
t% SG pressure and temperature low, pressure/temperature LCO not met
d SG temperature low and RCS pressure high, pressure/temperature LCO
not met
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QUESTION: 031 (1.00)

How 1s water hammer minimized when main feedwater is unavailable and SG
temperature is greater than 200 deg. F?

a. If SG level is below =50 inches, shut or maintain shut the MFW
isolation valve and restore level to 0" with AFW.

b. If SG level is below -26 inches, shut or maintain shut the MFW
isolation valve and restore level to 0" with AFW

c. If SG level is below -50 inches, trip the main feed pump and restore
level with the condensate booster pump and AFW.

d. If SG level is below -26 inches, trip the main feed pump and restore
level with the condensate booster pump and AFW.
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QUESTION: 032 (1.00)

Unit 1 is performing « partial stroke test on a MSIV channel B. During the
test a SGIS/CSAS occuvrs. How does the MSIV respond?

a. Channel A -only) will shut the MSIV.
b. The MSIV will not shut until the stroke tee" is completed.

¢. The channel E close signal will override the test signal and shut the
MSIV and channel A will also close the MSIV.

d. The channel B close signal will override the test signal and shut the
MSIV. Chanr:2l A is inoperable when channel B is in test.
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QUESTION: 033 (1.00)
The site has experienc:d a Loss of Offsite Power event . Assuming no operator
action takes place, which of the following statements concerning Unit 2 is
correct.

a. None of Unit 2's 4.16 KV buses will be repowered following the
event.

b. Both 4.16 KV buses 21 and 24 will be repowered following the event.
P Only 4.16 KV bus 21 will be repowered following the event,

d. Only 4.16 KV bus 24 will be repowered following the event.
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QUESTION: 034 (1.00)

12 EDG is found to b+ i.ooperable with both units at 1MJs power. Determine
which of the followi:g statements is correct.

a. Unit 1 is i a TS action statement.

b. Both units, 1 and 2, are in a TS action stacement.

C. Either unit - or unit 2, but not both, is in a TS action statement.

a; Neither unit is in a T8 action statement.
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QUESTION: 035 (1.00)

What is the effect on EDG stop/start signals when the Local-remote control
switch (CSLR) is placed in "LOCAL"?

a. All automatic start signals are bypassed but the control room stop
signal remains operable.

b. All automatic start and remote stop signals are bypassed.

e, All automatic start signals are bypassed.

d. All control room stop and start signals remain operable.
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QUESTION: 036 (1.00)

To automatically clos~ #12 EDG output breaker onto 4¥7 bue #14, which of the
following criteria mus- occur with the breaker hand switch in auto, a normal
electrical lineup (outout breakers open and disconneccs are shut), and no
operator action?

a. EDG is at ra-ed speed and voltage, a load shed has occurred (UVA}, a
U-2 SIAS A has occurred, and no lockouts ex.st on normal and
alternate 4¥V bus feeders and the diesel output breaker.

b. EDG is at rated speed and voltage, a load shed has occurred (UVB), a
U-1 SIAS B is present, and no lockout exists on the normal and
alternate 4KV bus feeders and the diesel ou:put breaker.

c. EDG is at rated speed and voltage, a load shcd has occurred (UVE), a
U-2 SIAS B has occurred, and no lockout exists on the diesel output
breaker.

d. EDG is at rated speed and voltage, a load shed has occurred (UVA), a

U-1 SIAS A has occurred, and no lockouts exist on the normal and
alternate 4KV bus feeder breakers.

Page 4é7-'
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QUESTION: 037 (1.00)

The Salt Water Air Compressors (SWACs) are NOT design~d to provide emergency

air to:
a. Auxiliary feeodwater valves
b, Safety systams within containment
& Service watel heat exchanger SW normal outlet valves

d. Feedwater control system valves
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QUESTION: 038 (1.00)

Unit 1 is on SDC when RCS pressure inadvertently drif:s up to 350 psia. What
automatic functions will protect the SDC system from over pressurizing?

a. SDC suction line relief between SDC return .isolation valves, 1-8I1-
6£51-MOV and 1-SI-652-MOV, will 1ift to prot >ct the return header.

b. Operator action is required to reduce RCS pressure and protect SDC
system.

£ LPSI pumps will trip and their discharge check valves will shut.

d. S€DC return isolation valves SI-651-MOV & SI-652-MOV shut and SDC
suction line relief will lift to protect th: return header.
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QUESTION: 03% (1.00)

Given the following dnta on the Quench Tank:

1) pressure ¢.5 psig
2) level 28.5% inches
3) temperature Y1f deg. F

Analyze the guench tank parameters and determine if any off normal conditions
exist per log sheets.

-

a. no concern, all parameters within acceptable operating band
b. pressure toc high
Q. level too low

d. temperature too high
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QUESTION: 040 (1.00)

All of the following idications may be used to determine CCW availability to
an RCP EXCEPT for:

b. RCP seal pressure alarms on 1C06

|
|
%
a. CCW Flow Low alarm lit in RCP auxiliary status panel }
|
|
G Controlled hleed off high temperature alarms from the computer

a. CCW Temp Higa alarm on the RCP auxiliary status panel
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QUESTION: 041 (1.00)
Which one of the following RPS trips is required to provide automatic
protection from an uncoatrolled CEA withdrawal which iritiates from a low
initial power level ~f about 10 cps?
a. Axial flux offset trip
b. High RCS pressure trip

- Variable hign power trip

d. Thermal maragin/low pressure (TM/LP) trip



QUESTION: 042 (1.00)

Which of the following plant conditions is the worst case related tec a CEA drop
event?

a. BOC and high CEA worth
b. BOC and low CEA worth
- EOC and high CEA worth

d: EOC and low CEA worth
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QUESTION: 043 (1.00)

Per AOP-1E, "CEA Maltunctions", which one of the following is the correct
operator response whea two CEAs which have been declarea inoperable?

a. trip the rea:tor and implement EOP-0
b. be in hot st andby within six hours
C. restore CEA operability within 1 hour or reduce power to less than

50% of ratea Thermal Power within the following hour

d. restore CEA operability within 1 hour or reduce power to less than
75% of initial Thermal Power within the foll.owing hour




QUESTION:

044 (1.00)

Which one of the folloewing indications would be used o differentiate between
a LOCA inside containmant and a steam line rupture ir‘ide contaimment?

Increasing containment sump level
Increasing containment temperature
Decreasing Pressurizer level

Decreasing subcooling margin
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QUESTION: 045 (1.00)

3)
4)
5)
€)

What

!
!
l
l
F

Given the following c mditions:

Plant 1s in Mode 5, RCS Heatup is in progress
RCS pressure is .75 PSIA

SG secondary temp2rature is 170 deg. F

RCS temperature is 160 deg. F

PZR level 160 incaes

11A RCP running tor 2 minutes

action should be taken if 11B RCP fails to start?

a. Start the 128 RCP immediately
b. Continue the RCE heatup, one RCP is sufficiunt
R Attempt to start the 11B RCP within 30 minutes

d. Stop the 11A RCP within 3 minutes

R —

R ———

Page 51
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QUESTION: 046 (1.00)

What action should be taken in regards to the RCPs on a loss of CCW?

a. Trip all RCr3 immediately

b. Trip RCPs wrthin 10 minutes

" Commence an expeditious unit shutdown and then trip RCPs

d. RCPs may operate as long as pump temperatures remain < or = to

operating limits
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QUESTION: 048 (1.00)

to 2300 ppm is required. The need for the 2300 ppm is based on maintaining

|
|
[ Should more than one (%A not trip during a valid reactor trip then a boration
|
| shutdown margin for:

\

|

a. the 2 most reactive CEAs being stuck out
b. the 10 most rzactive CEAs being stuck out
e cooldown to Mode 4 with all CEAs removed

d. all possible combinations of CEAs being stuck out
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QUESTION: 04% (1.00)

Unit 1 is at 75% power when the RO discovers that comp:nent cooling (CC) water

has been lost due to « trip of the operating componer: cooling water pump.
Which of the following immediate actions should the RO take?

a. Attempt to r=zstart the affected pump

b. Place the hand switch of the affected pump iu PULL TO LOCK and start
the standby CC pump

2 Place the hand switch of the affected pump in PULL TO LOCK and
determine the cause for the failure of the failed CC pump

d. Trip the reactor and perform the immediate actions of E-0.



QUESTION: 050 (1.00)

During the implementation of EOP- 0, "Post-Trip Immediate Actions", it was
necessary to de-eneraize¢ the CEDM Motor Generator sets fiom the control room in
order to trip the re-ctcr.

Which one of the following describes the reason for the Note regarding
returning the breaker .ineup to that existing before the trip when reenergizing
the buses?

a. To ensure tlat the bus amperages remain balanced.
b. To provide j.ower to components necessary for fast boration.
¢. To prevent 1iadvertent parallel of vital bures and loss of train

separation.

d. To satisfy tae Technical Specifications reguirement for PZR heater
operability.
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QUESTION 1 - |
Unit 1 is at 80% power when annunciator 1C06, PRESSURIJCER PRESS CH 100, alarms
due to low PZR pressuire, 2100 PSIA.
Which of the following possible actions would the RO "NOT" take in responding
to this malfunction?
a. Manually trip the reactor
k Shift pressure control channels

ISy Manually energize PRZ heaters

Place CEDS .n Manual Seguential

o
)
Q
i
®

duce Tavy.



QUESTION: 052 (1.00)

Which cne of the foliowing represent the HPSI throttling =riteria during
implementation of EOF-4 (Excess Steam Demand Event).

a. 310 deg. F loc» subcooling, PZR level <180", 1 8/G available as a heat
sink and RVLMS indicates level above mid-loop of the hot leg.

b. 30 deg. F locn subcooling, PZR level »101", I S/G available as a heat
sink and no indicated RCS voids.

. 30 deg. F CE: subcooling, PZR level »101", 1 §/G available as a heat
sink and RVIMS indicates level above mid-loop of the hot leg.

4. 30 deg. F CET subcooling, PZR level »>101", 1 S§/G available as a heat
gink and RVLMS indicates level above top of the hot leg.
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QUESTION: 053 (1.00)

A main steam line breax occurs on Unit 2. Which one of the following actions
should the operator taxe if RCS wvoiding inhibits core heat removal?

a. Lower the cooldown rate to allow temperatures to egualize
b. Raise pressirizer level to accommodate void collapse
2. Adjust pressurizer spray to reduce subcooling to 30 deg. F

d. Raise HPSI rlcw to raise subcooling to 140 deg. F
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QUESTION: 054 (1.00)

Unit 1 ie at 300 MWE with condenser vacuum at 23.5 inches Hg. Which of the
following actions should the operator take with the approval of the SS8/CRS?

&. Reduce powe:1 and try to restore vacuum to greater than 24.5 inches
Hg. If vacuam has not been restored to greater than 24.5 inches Hg
within 10 m autes, trip the reactor.

.. Reduce power and try to restore vacuum to greater than 24.5 inches
Hg. If differential pressure between condenszrs becomes greater than
2 inches Hg, then trip the reactor.

¢, Since condenser vacuum is less than 25 inches Hg, trip the reactor.

d. Reduce power and try to restore vacuum to gr-ater than 25 inches Hg.
1f condense: vacuum drops to 22.5 inches Hg. trip the reactor.
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QUESTION: 055 (1.00)

Natural circulation flow is determined to have been established

a. when pressurizer level begins to slowly decrease.

b. when CET temperatures consistently trend wit}). Thot.

2. when the R.S is at least 30 degrees F subc.zled.

a. when steam uenerator saturation pressure becomes areater

saturation pressure.

Page 61
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QUESTION: 056 (1.00)

Which one of the following is the reason the 4KV Bus oad breakers must be
opened prior to re-enfrgizing the 4KV bus?

a. Prevent the 4KV bus loads from tripping on ‘' nder voltage

b. An electrica:. interlock will prevent the 4KV Bus feeder breaker from
closing

'~ Prevent overloading the power source from starting currents

d. Prevent unnecessary equipment from starting
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QUESTION: 057 (1.00)

An alarm occurs on th¢ liguid waste discharge radiation menitor (RE-2201)

during a discharge of the 11 RCWMT. The Rad monitor is flushed with
demineralized water in an attempt to reduce background rediation levels.
is the flush water d.sctarged to?

a. RCWMT 11

B RCWMT 12

e. Miscellaneous Waste System

4. Circuiating water discharge system

Where
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QUESTION: 058 (1.00)

! To override the fire induced signals from a control room fire, specific actions
| are taken to maintain positive control of plant eguipm:ant outside the control
room. Which of the following set of conditions represent the actions taken?

a. Close fuses pulled and breakers tripped locally, local/remote key
switches placed in LOCAL, 480 V load centers are stripped, and vital
MCCe are stiipped of unnecessary loads.

- Breakers tripped and racked out, 4KV busses are stripped and close
fuses are removed, and all vital MCCs are stripped and tied together.

L. EDGs and 4KV breakers with lccal/remote key switches are placed in
LOCAL to maintain positive control of operaticna; all other equipment
affected b, tle fire continues to operate.

d. EDGs placed in LOCAL, #12 EDG is used to supply two 4KV busses, 4E0D
V load centers are stripped, and vital MCCs are deenergized and
stripped then tied together.
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QUESTION: 060 (1.00)

During AOP-9%A, "Contrcl Room Evacuation and Safe Shutdown Due to a Severe
Control Room Fire", thz Unit-1 Turbine Building Operec:-or (TBO) must perform
actions to restore powar to 1Y0% and then tie 1Y10 tc 1Y09. The Unit-2 TRO
strips MCC-Z201BT. Selzct the statement that explains why these actions are
being performed.

a. To restore power to the lights in the switchgear rooms and the Unit-2
turbine turrning gear motor only.

b. To restore power to the ESFAS sensor cabinets and the ventilation to
the switchoear rooms.

& To restore powsr to the control room ventiiit<~u system to aid in
smoke remov 1 and the CST makeup pump.

d. To restore power to the plant paging system ond a well water pump to
provide a ccatinued source of makeup water for use.
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QUESTION 61 1.0C

T - 3 e ¥ = % 4 .o g T . 11 4 y y ey =z )
When, 1f ever, is coun.ainment integrity "NOT" requir« 1l by Technical
Specifications

Y
=
0
(&N
iy
n

d. Containment integrity is required in all modes of operation
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QUESTION: 062 (1.00)

One of the major actiors performed during EOP-3, "Loss of All Feedwater", is a
cooldown to less than 465 deg. F. The conseqguences of failing to perform this
cooldown results in the:

a. inability of AFW to be initiated to the §/Gs after they have
completely cone dry.

b. loss of RCS integrity and the possibility of initiating a core melt
sequence due to inadequate core cocoling.

C. initiation c¢f a PTS event once the S/Gs have peen lost as a heat
sink.
d. inability of the condensate booster pumps tc be used as a backup

source of fead to the §/Gs.
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QUESTION: 063 (1.00)

Should Once Through Core Cooling (OTCC) be reguired following a loss of all
feedwater event, the ceneration of hydrogen may becom¢ a concern in trying to
maintain containment integrity. One of the sources of hydrogen during OTCC is
from the corrosion of aluminum and zinc. Hydrogen generated in this manner
will become a significant hazard within:

A minutes of (TCC initiation.
b. a few hours of OTCC initiation.
& . 24 hours of HTCC initiation.

d. a couple of weeks of CTCC initiation.

o L
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QUESTION: 064 (1.00)
Given the following plant conditions:

Unit 1 reactor tripped

§/G 11 pressure .s 890 psia
S§/G 12 pressure ig 750 psia
§/G 11 level is -180 inches
§/G 12 level is -<10 inches

Which one of the following actions is expected to have occurred?
a. AFW blocking valves to #11 and #12 §/Gs should have closed.
b. AFW blocking valves to #12 S/G should have closed.

\ c. 11 and 13 AFW pumps should have tripped.
| d. 11 AFW pump should have tripped.

i
|
|
|
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QUESTION: 065 (1.00)

Match the PZR pressure control signals in column A, with the PZR pressure

deviatioa from setpoir. in column B. (Setpoints in column B may only be used
once or not at all.) [0.2%5 each)
COLUMN A COL TMN B
CONTROL SIGNAL DEVIATION FROM SETPOINT
a. Spray valves full open 1. -25 psi
b. Zero power to proportional heaters e IR 0 psi
Ba Full power to> proportional heaters 3. +25 psi
- Spray valve: start to open 4. +50 psi

5 +75 pei

6. +100 psi



QUESTION: 066 (1.00)

the VCT level from column B that initiates each automatic contrel
(Levels in column B may be used once, more than once, Or

Select
function in column A.
not at all) [0.25 each)
COLUMMN A
AUTOMATIC CONTROL FUNCTIONS
a. Automatic ma'seup starts
b. Automatic makeup stops
e Charging punyo suction transfers
from VCT to RWT
d. Letdown diverts to waste
processing system
a. 6,4,7,3
b. 5,4,8,3
o 5, 8,8,8
B8 €,3,8,4

1.

2 3

CC.JMN B
VCT LEVELS

116.0
112.5
110.0
104.0

0.0

inches
inches
inches

inches

inches

87.5% inches

8.7 inches

3.0 inches
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QUESTION: 067 (1.00)

The following plant conditions exist:

RCS temperature - 180 degq. .F

Pressur:ligzer Leve] . 16’0"4'4'3 DECRELs W6

Fressurizer Pres:uare - 187 psia

11 §/G level - +10"

12 §/G level - +20"

Rux Feedwater - Available
—RESeYTUT - v

Shutdown cooling flow - 0 gp

What action must be taken prior to re-establishing shutdown cooling?
a. Fill the R(S with LPSI pump
. Fill the RCR with containment spray
c. Fill the RCs with HPSI pump

d. EBegin steaming 11 and 12 S/Gs

Page 73
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QUESTION: 068 (1.00)

Which one of the following is the reason that RCS pressure must be below 170
psia when aligning the containment spray pumps to supply shutdown cooling flow?

a. Prevents t'e CS pump from running at shutctf head

b. Prevents ov-r pressurization of the ECCS pump suction headers

- Prevents the automatic shutting at 200 psia of the SDC return valve,
S1-652

a. Prevents the lifting of the SDC heat exchanger relief valve at 190

psia
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QUESTION: 069 (1.00)

How many decades of range overlap are required betweern the Wide Range NIs and
the Power Range NIs at 1% power?

a. Zero
D, One
g Two

4d. Three
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QUESTICN: 071 (1.00)

Unit 2 has the following conditions:
RCS Th - 530 deg. F arni constant
RCS Tc - 5§20 deg. F and constant
RCS Pressure - 1550 psia and decreasing
Pressurizer Leve. - 75" and decreasing
RCS Subcooling - 70 deg. and siowly decreasing
Containment Rad Monitors ” Clear
"Unit Cndsr Off-Gas" Alarm . Actuated
Containment pressure - 0.3 PSIG
Containment Temperature . 110 deg. F

Based upon the above conditions, IDENTIFY from below the current status of the

unit.

a. Unit
b. Unit
c. Unit
d. Unat

5]
“

-~

<

-~
&

is experiencing a Loss of Coolant Accident.

is experiencing a steam generator steam line break accident.

is experiencing a steam generator tube leak incident.

has experienced an uncomplicated reactor trip.



0

the first strategies during EOP-6&, Steam Gener-tor Tube Rupture, 1is to
=

The importance of this action is based upon:

ifferential pressure across the break thereby
w rate.

oQ m

initiating natural circulation flow as soon as possible during the
event.

minimizing further uncontrolled radiocactive releases to the
environment.

maintaining RCS subcooling greater than the saturation pressure for
the affectec §/G.
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QUESTION: 073 (1.00)

ECP-3, Loss of All Feedwater, requires that Once Thro.gh Core Cooling be
initiated prior to CET3 reaching 560 deg. F. The reacon it must be initiated
prior to this temperatrure is:

a. to ensure ade=quate cooling of the core takes place under all
operating conditions

b. to prevent fuel damage which would occur at a tamperature higher than
560 deg. F

E. because at this temperature RCS pressure is low enough to ensure a

minimum adecgiate flow rate

d. to ensure RCf voiding does not occur in suffi-ient amounts to prevent
adeguate flcw through the core
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QUESTION: 074 (1.00)

250 VDC bus 13 has beeu lost. Determine which of the tollowing conditions is
valid.

a. An immediate turbine/generator trip will result.
b. The seal oi. system normal supply is lost.
8 Turbine control power backup ¢€apply is lost.

d. Emergency lube oil pumps are lost.
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QUESTION: 075 (1.00)
During a waste gas dec.y tank release through the Unit 1 plant vent, the waste
gas discharge radiatio. monitor (RI-2191) alarms. Which valve must be manually
shut to prevent a posrible waste gas decay tank dischurge to the waste gas
surge tank?
a. Waste gas diec_ harge isclation (WGS-2191-CV)
b. Waste gas discharge to Unit 1 plant vent (WGS-683)
48 Waste gas discharge pressure control (WGS-2191-PCV)

d. Waste gas discharge final filter bypass (WGS-630)
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QUESTION: 076 (1.00)

What details must be provided in the entry to the CRO's Log when declaring an
RMS channel out of service?

a. Method for pre-planned alternate sampling, what technical
specificatica actions are reguired, and nam= of person notified of
the inoperal le channel.

b. Alternate RMS channel placed in service, nane of the person placing
the alternate channel in service, and technical specification actions
incurred.

c. Name of persca flushing the monitor prior to weclaring it inoperable,
name of person notified that the monitor is inoperable, and the
technical specification actions incurred.

4. Technical specification actions incurred and the name of the person
notified of the inoperable channel
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QUESTION: 077 (1.00)

Match the instrument a'r pressures in column A with th: appropriate actions in
column B. Each action can only be used once.

.

[0.25 points each)
B
standby instrument air cumpressor starts
affected IA and PA compressors should be stopped
reactor and turbine trip are warranted

instrument air to containment non-essential loads
isolates

plant air to instrument air cross-connect valve
opens

PA header isolation valve closes to allow PA
compressor tc discharge to IA system only

T ara——
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QUESTION: 078 (1.00)

The Refueling Control 2oom Operator (RCRO) gives the Fuel Handling Supervisor
(FH8) the following irformation:

Shutdown margin - 2450 ppm
Reactor fuel poo! level - 66 feet
Source Range Monitor, Ch. A . E-4 cps
B ¥ " Ch. B - 1200 cps
" " r Ch. € - erratic reading
i " " Ch. D - E-4 cps

Which of the followins actions should the FHS take if a fuel assembly (FA) is
being inserted into tle core during this condition?

a. The Refueling Machine Operator (RMO) should cortinue to insert the FA
into the irnJexed core location, but does no* ungrapple it and the
€hift Supervisor should contact the NI System Engineer to
investigate.

b. The FHS should direct the RMO to stop insertion of the FA into the
core until 2 NI channels are restored to operation.

c. The Shift Supervisor should direct the NI Systems Engineer to
investigate, but should also continue with refueling by stationing an
additional watch to monitor the count rate.

d. Core alterations should be stopped, the FA moved out of the core area
to a safe location, and the RCS boron value verified to le equal to
or greater tan specified in NEOP-23 Fig. 2-II.A.6.
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QUESTION: 079 (1.00)

In response to a loss of offsite power event, which of the following is one of
the reasons for shutting both MSIVs and securing SG blowdown?

a. prevent ADvs from lifting
b prevent ove.-ooling of the RCS
-1 protect contenser from over pressurization

d. provide a reliable steam source for the turbine driven AFW pump
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QUESTION: 080 (1.00)

When responding to a major leak, which parameter below would be & reactor trip

reguirement?

a. PZR level 105 inches and decreasing
B, Tavg 547 deg. F
C. PZR pressure decreased to TM/LP pre trip value

d. S/G tube leak greater than the capacity of one charging pump
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QUESTION: 081 (1.00)
A worker spends 10 houres in an airborne contaminated area containing a
radicactive isotope ¢ the DERIVED AIRBORNE CONCENTRATION «f 10 CFR 20. After
exiting the avea, it wa~ determined that the operator’s respirator was
defective and providea no protection. “"WHICH" of the following is the maximum
committed effective dose equivalent (CEDE) he could h-ve received?

a. 5000 mrem

b. 250 mrem

e, 25 mrem

da. 5 mrem

Ry S WS — L
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QUESTION: 083 (1.00)

A "locked" high radia.ion area by definition in CCI-&%0, "Calvert Cliffs
Radiation Safety Manua ", is an area in which radiation levels could result in
an individual receiviryg from the radiation source or from any
surface that the radittion penetrates.

a. in excess of 1 mSv in one hour at 30 cm
b. in excess of 1 rem in one hour
. in excess of 100 mrem in one hour

d. in excess of 10 mSv in one hour at 30 cm
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QUESTION: 084 (1.00)

Fluid systems that are PRESENTLY OPERATING with temperatures greater than
or pressures greater than , , should be isoclated from the
work area by two shut valves in series. 1
|
l
l
|

a. 200 deg. F; 400 PSIG
b. 200 deg. F; 570 PSIG
¢. 250 deg. F; 400 PSIG
d. 250 deg. F; 300 PSIG
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QUESTION: 085 (1.00)

Three of the four cond.tions listed below are valid coaditions for performing
maintenance on a fluid system without isolating and sa.ety tagging the system.
IDENTIFY which of the following conditions is NOT val:id.

a. The scope of work does NOT require breaching of pressure boundaries.

b. The work scope is considered post maintenance followup of a minor
nature necessary to esatisfy post maintenance testing requirements.

G The scope of work has been evaluated by the Responsible Maintenance
Group Supervisor and Shift Supervisor and it has been determined that
both worker znd plant safety will NOT be compromisedeAND the boundary
that would/lawestablished by the tagout WOULD provide personnel or
equipment Pp:otection.

pA

d. The work must be performed to ENHANCE plant reliability and safety
AND the boundaries to be established would also REDUCE reliability
and safety ~f the plant.



QUESTION:

08e (1.00)

Which of the responsililities listed below is correct for watchstanders?

&

O

A qualified watchstander may direct a trair=e to take the required

watchstation readings provided the watchstander was directed by the

8S or CRS to »erform a higher priority task and the watchstander

takes full responsibility for reviewing the accuracy and completeness
f the logs

Under minimum crew conditions, the CRS may direct a watchstander
qualified on both units to take daily logs of both units’
watchstationrs.

Any log reading required by Technical Specifications which is out of
its allowabl~ range shall be reported to the rontrol room immediately
following th2 completion of the inspection round.

In the event plant conditions preclude taking log readings within the
specified time limit, readings may be omitted provided prior approval
is obtained from either the 8S or CRS.
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QUESTION: 0B7 (1.00)
Units 1 and 2 are operating at rated power with minimum shift staffing. A loss
of offsite power causex both units to trip. The Control Room Supervisor (CRS)
begins implementinu EGP-0, "Post-Trip Immediate Acticne”, for Unit 1. Which
one of the followinjy individuals is responsible for inplementing EOP-0 as the
CRS for Unit 27

a. Shift Supervisor

b. Contrcl Room Operator, Unit 2

[+ Shift Techni:cal Advisor

d. Plant Watch Supervisor

R R R I e —

T ===

T ——
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 SENIOR REACTOR OPERATOk ' SATS o page 94

088 (1.00)

Certain plant conditions require the establishment of a fire watch patrol.
Which one of the following describes the normal control room reporting time(s)
for the fire watch patrol?

a.

b.

-
| S8
-

At the beg.uning, middle and end of shift p
At the begiriing and middle of shift only
Every two hoars on the hour

Every hour ca the hour
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QUESTION: 08% (1.00)

Which ONE of the following describes the method to be used to perform the
second check of a lock=d closed manual valve?

removing the locking device.

b. Remove the locking device and attempt to move the valve in the closed
direction only, then relock the valve.

L Verify the locking device is installed properly without any attempt
to move the valve and use valve stem rise to determine position.

d. Remove the locking device, open the valve 1/f of a turn, turn the
valve in tl=2 opposite direction until tight'y clesed, then reinstall

a. Attempt to riove the valve operator in the closed direction without
the locking device.
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QUESTION: 050 (1.00)

For a Design Base Loss »>f Coolant Accident, what is th: major contributor of

hydrogen in the cont.-inment building?

a. Metal water reaction
b. Corrosion
e RCS hydroge: overpressure

d. radiolysis

rade

-




SENIOR REACTOR OPERATOP Page 297

QUESTION: 091 (1.00)

Following a RAS, prevents stress cc-rosion cracking of
certain metals in containment by raising the pH of t} > recirculated borated
water solution to a fiial value of 7.0.

a. Lithium hydroxide
b. Ammonia
B Morphaline

d. Trisodium phoephate
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QUESTION: 092 (1.00)

An operator makes a r:quest to work the following hours:

BEGIN END
4/4/94 - 1800 4/5/94 - 0600
4/5/94 - 1800 4/6/94 - 0700
4/6/94 - 1900 4/7/94 - 0600
4/7/94 - 1800 4/8/94 - 0600
4/8/94 JFF 4/9/94
4/10/94 - 0700 4/10/94 - 190C
4/11/94 - 0600 4/11/94 - 1%00

Which of the followinc describes the response the sup=rvisor should make to
this request?

a. Grant the rejuest because it meets CCI-159 overtime limit
requirements .
b. Deny the request because it fails to meet the 7 day period overtime

requirement of CCI-159.

¢. Deny the request because it fails to meet the 48 hour period overtime
regquirement of CCI-159.

d. Deny the request because it fails to meet both the 7 day and 48 hour
period overtime requirements of CCI-1589.
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QUESTION: 093 (1.00)

The purpose of the Operational Support Center (08C) is to provide:

a. technical support to plant operations perscnnel during emergency
conditions.
b. management of overall BG&E response during emergency conditions.

c. coordination of radiological and environmental assessment and receipt
and analysis of all field monitoring dats during emergency
conditions.

d. plant operational, radioclogical, chemistry, maintenance, and
materials support during emergency conditiols.
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QUESTION: 094 (1.00)

e i e e e B e e

Pagel00

A VERY HICH RADIATION AREA means an area, accessible to individuals, in which
radiation levels coulc result in an individual receiving an absorbed dose in

excess of

from any surface that the radiation penetrates.

in one hour at

from a radiation source or

choices given below

a .

b.

100 millirem; 30 centimeters

1000 millirem; 30 centimeters

100 rads;

500 rads;

one meter

o2 meter

FILL in the blanks from the




QUESTION: 095 (1.00)

%
SENIOR REACTOR OPERATOR Pagel01 |
WHICH ONE of the following individuals should be DENIEIl access to the protected
area at Calvert Cliff:?
a. A control room operator who has consumed two cans of beer at home at |
10:00 am prior to reporting to work at 4:00 pm. |

b. A maintenar~e employee who shared a bottle of wine with his wife at
@ 6:00 pm dinner party prior to being called in for unscheduled repair
work at 10:C0 pm and who tested to 0.05 blood alcchol concentration
when he arrived on site.

e A contractor employee called in for emergency maintenance at 11:00
pm, who notified security that he had been to a happy hour at his
motel at 5:0) pm and who tested to 0.03 blood alcohol concentration
when he arr:ved on site.

a. A health Physics technician who was found to have a cooler full of
UNOPENED beer in the trunk of his car in the main parking lot outside
the protected area.
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QUESTION: 0%¢ (1.00)

ldentify on which of the following level instruments you would expect to find

a RED Zoneband.

a.

.

Reactor vessa2]l level indicator
Pressurizer level indicator
Steam generazcor level indicator

Refueling Water Tank level indicator

pPagell2
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QUESTION: 097 (1.00)

Following a plant trip from 100% power, the foliowing plant conditions are

noted:

core burnup 4
RCS Tc »
ADVs »
TBVs i
11 8/G level *
12 §/G level :
8/G pressure -
AFW -
MFW .
RCPs -
PZR level .
PZR pressure f

EOP-0 has been implemeted.

Pagel03

8,000 MWD/MTU

522 deg. F and decreasing

in auto; full closed

in auto; full closed

~100"

-88"

827 psia decreasing slightly
secured

in auto; increasing level to 0"
all 4 running

115" and decreasing

2010 psia and decreasing

The cause for the above plant condition is:

a. Excess steam demand with low amount of available decay heat

b. Misoperatior of the ADVs, TBVs or a stuck open $/G safety

o Excessive feedwater flow

d. Small RCS lezak
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QUESTION: 0S8 (1.00)

Unit 2 has experiencec a small break LOCA. Using the following plant

conditions calculate the subcooling margin.

CET temperature - €600 deg. F

RCPs . all 4 stopped

PZR level - 300"

Thot - 590 deg. F

Tcold - 560 deg. F

PZR pressure - 1480 psia (lowest) -14%0 psia (highest)

a. 5 deg. F subcooled

b. 0 deg. F s :bccoled

0

§ deg. F abov= saturation temperature

d. 10 deg. F akove saturation temperature
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The plant has experisnced a LOCA with the following piant conditions: |

CET . 51C deg. F -
RWT level - 410"

FZR level » iso" .
Thot - 50C deg. F :
Tcold - 480 deg. F :
PZR pressure - 1320 psia (lowest)-1335 psia (highest) i

S
QUESTION: 092 (1.00)
| RCP k all 4 OFF |
| .
\'
|

Based upon the above plant conditions, which of the following acticn should the
cperator take in response to this event? :

a. Verify that 3IAS, CIS and CSAS have properl; initiated and realign |
| safety injection to a recirculation mode up-n receipt of a RAS. |
| I

b. Establish ar.i maintain core and RCS heat removal via natural i

circulation. :

Establish anc maintain natural circulation f.ow while adjusting HPSI f
flow to provide inventory control.

(9]

d. Maximize cl.arging, minimize letdown, and monitor core and RCS heat
removal fo* further degradation. |

(**w*vstses END OF EXAMINATION *#sssnssns)
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MULTIPLE CHOICE

003  MATCHING (z,o/
SR Jc;'&fci

b 2
—e—-é——a'&"CT"é'

d &

MULTIPLE CHOICE

004 C
005 d
006 b
007 c
008 C
009 c
010 d
011 a
012 b
013 b
014 da
015 a
01€ d
017 a

ANSWEHR

KEY
018 d
019 a
020 d
021 b
022 e
023 d
024 b
025 a
02¢ d

027  MATCHING ( 1.%)

a 4
b 5
C &

MULTIPLE CH)OICE

028

o

029

030

o oo o

031

o
w
N
0

033

034

035

o v U o

036
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040
041
042
043
044
045
04€
047
048
04¢
050
081
052
083
054
055
056
087
058

059

b e
. b

0 0

(<4 2 U o o 2 U

r o o a o

ANSWER

KEY
060 d
061 b
062 4
063 b
064 b
065  MATCHING (].9)
a 6
L 3
¢ 1
d 4
MULTIPLE CHOICE
066 b
0€7 c
068 b
069 ¢
070 g
071 c
072 c
073 c
074 d
075 5
076 a
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077

083
08q

085

oBg
08%
090
091
092
093

094

ANSWER KEY

MATCHING (| o) 095 b
a 3 096 d
b 4 087 c
c 6 098 ¢
a1 059 b

MULTIPLE CHOICE

d

C

(p] 2 o W 2 o o 0 T o w

Q.

(#¥%3 %4429 END OF EXAMINATION ##wssessss)
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